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The following table presents the data on the number of vehicles of three different types (A, B
and C) produced by a company during seven different years from 2012 to 2018. Based on the
data in the table, answer the questions 1- 5 :

Year — wise production of three types of vehicles

Vehic
Yﬁar A - Type | B - Type | C - Type
2012 5000 20000 15000
2013 15,000 10000 22500
2014 10,000 15000 30000
2015 17,500 15000 23000
2016 25,000 20,000 15000
2017 13,000 25,000 20000
2018 30,000 35,000 25000
Sub questions

Question Number : 1 Question Id : 61547510594 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The following table presents the data on the number of vehicles of three different tvpes (A. B
and C) produced by a company during seven different vears from 2012 to 2018. Based on the
data 1n the table. answer the questions 1- 5 :

Year — wise production of three tvpes of vehicles

Vehicle
Year A - Twvpe B - Type C =fype
v
2012 5000 20000 15000
2013 15.000 10000 22500
2014 10.000 15000 30000
2015 17.500 15000 23000
2016 25.000 20.000 15000
2017 13.000 25.000 20000
2018 30.000 35.000 25000

Options:

61547541201, 1
61547541302, 2
61547541202 2
E1547541204. 4

Question Number : 2 Question Id : 61547510595 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The number of A — type vehicles produced in the year 2014 was what percent (%) of the
number of C-type vehicles produced in the year 20167

(1) ~ 33.33 % (2) ~66.67%
(3) 50 % “4) 15%
Options:

B1547541205. 1
51547541206, 2
61547541207, 3
61547541208, 4

Question Number : 3 Question Id : 61547510596 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In how many years was the production of A — type vehicles less than its average production
over the given years?

(1) 2 (2) 4
(3) 3 4 1
Options:

61547541209 1
61547541310, 2
E1547541211. 3
E1547541212. 4

Question Number : 4 Question Id : 61547510597 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What was the average number of B — type wehicles produced by the company over the years?

(1) 20000 (2) 25000
(3) 15000 (4) 30000
Options:

515475412121
61547541214, 2
61547541215 3
61547541316 4

Question Number : 5 Question Id : 61547510598 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following years was the total production of all the three types of
vehicles 600007

(1) 2013 (2) 2014
(3) 20158 (4) 2016
Options:

615475412171
61547541218, 2
61547541319, 3



B1547541220. 4

Question Id : 61547510593 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (1to5)
Cesticn Label | Comprehiension
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2012 5000 20000 15000
2013 15,000 10000 22500
2014 10,000 15000 20000
2015 17,500 15000 23000
2016 25,000 20,000 15000
2017 13,000 25,000 20000
2018 30,000 35,000 25000

Sub questions

Question Number : 1 Question Id : 61547510594 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 10 % 2) 5%
3) 20% 4) 25%
Options:

61547541201, 1
61547541202, 2
61547541302, 3
E1547541204. 4

Question Number : 2 Question Id : 61547510595 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1) ~33.33% (2) ~66.67%
(3)  50% 4) 15%

Options:



B1547541205. 1
61547541206, 2
61547541207, 3
61547541208, 4

Question Number : 3 Question Id : 61547510596 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

. = e

TR 991 § A 2159 18T 961 3c91ed 123 T3 991 § 3799 30164 J FF 917

(1) 2 (2) 4
(3) 3 4 1
Options:

51547541209, 1
61547541210, 2
61547541211, 2
61547541312 4

Question Number : 4 Question Id : 61547510597 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 20000 (2) 25000
(3) 15000 (4) 30000
Options:

615475412121
61547541314, 2
E1547541215. 3
E1547541216. 4

Question Number : 5 Question Id : 61547510598 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frteIga § & foFF 99 991 TR % a1ed] 1 Fa 3caed 60000 o917

(1) 2013 (2) 2014
(3) 2015 (4) 2016
Options:

61547541217, 1
615475413158, 2
E1547541213. 3
51547541220, 4



Sub-Section Number: 2
Sub-Section I1d: 615475460
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 61547510599 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

By selling 70 pencils for Rs.90/- a person makes a loss of 25%. How many pencils should be

sold for Rs.234 to have a profit of 30%?

(1) 95 (2) 100

(3) 105 (4) 110
Options:
51547541221,
E1547541322
B1547541325
61547541324

o LI

Question Number : 6 Question Id : 61547510599 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
U FiEad 70 GfEe w1 90 T § 59 L 25% FH 321 & | 30% HATH HAH 6 o0 234 T § FRaHl
UTe ST BRI Y

(1) 95 (2) 100
(3) 105 (4) 110
Options:

E1547541221. 1
E15475412322. 2
61547541323, 3
615475412324, 4

Question Number : 7 Question Id : 61547510600 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In what ratio must a vendor mix two varieties of sugar worth Rs.60 per kg and Rs.78 per kg
so that by selling the mixture at Rs.76.8 per kg, the vendor gains 20%?

(1) i ) 7:2
(3) 5:3 4y 5:2
Options:

615475413251
E1547541326. 2
E15475412327. 3
B1547541228. 4

Question Number : 7 Question Id : 61547510600 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
U TosRdl @1 60 T Wid 7RI, R 78 ¥ uid R, gom # = f 31 T TR o e g |
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(1) 114 2y 7T:2
(3) 518 (1) D2
Options:

515475412251
61547541326, 2
61547541327, 3
615475413258, 4

Question Number : 8 Question Id : 61547510601 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which given of the following sets of letters when sequentially placed at the gaps 1in the letter
series below shall complete 1t?

bb b ab chba bebb

(1) achac (2 acbhbhbb
(3) cbhbba (4) abbbe
Options:

E1547541229. 1
61547541220, 2
61547541221, 3
61547541332, 4

Question Number : 8 Question Id : 61547510601 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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bb b ab cbba  bebb

(1) achac (2) achbbb
(3) chbba (4 abbbe
Options:

6154754123291
61547541320, 2
E1547541221. 3
E1547541232. 4

Question Number : 9 Question Id : 61547510602 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Out of a total of 10 students, the average weight of 9 students is 60 kg. If the weight of the
10t student is 9 kg more than the average weight of all the 10 students, then the weight of
the 10t student would be :

(1) 61 kg. (2) 69 kg.
3) 70kg. (4) Tlke.
Options:

61547541332 1
E1547541224. 2
E1547541235. 3
61547541236, 4

Question Number : 9 Question Id : 61547510602 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
et 10 fammiear 8 & 9 faenien =1 sitas === 60 .01 2 | 3tz 10 o faen=fi =1 o= adt 10 fa=nir=n =
3iad 994 § 9 ., s1fa= 2, @1 109 feenefi =1 9= =

(1) 61 f&.m. (2) 69 fHm.
(3) 70 T . (4) 71,
Options:

51547541233 1
61547541224, 2
61547541335 3
615475413356 4

Question Number : 10 Question Id : 61547510603 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following was not a Millennium Development Goal (MDG)?

(1) Eradicate extreme poverty and hunger
(2) Improve maternal health
(3) Ensure healthy lives and promote well being for all at all ages
(4) Ensure environmental sustainability
Options:

61547541357, 1
E1547541238. 2
51547541239, 3
61547541240, 4

Question Number : 10 Question Id : 61547510603 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547541337, 1

61547541338, 2

61547541235, 3
61547541240, 4

Question Number : 11 Question Id : 61547510604 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Choose the person who has control over self, mode of communication and method of delivery
in class room from the following :

(1) Student (2) Teacher
(3) Audience (4) Visitor
Options:

E1547541241. 1
61547541242 2
61547541243 3
61547541344, 4

Question Number : 11 Question Id : 61547510604 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547541241. 1
61547541242 2
61547541243, 3
61547541244, 4

Question Number : 12 Question Id : 61547510605 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Select the period in which India became a centre of higher learning.

(1) Gupta Period (2) Buddha Period
(3) Mughal Period (4) British Period
Options:

61547541345 1
E154754124E. 2
E1547541247. 3
51547541248, 4

Question Number : 12 Question Id : 61547510605 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) e hTe (2) TFg-FA
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Options:

61547541345 1
61547541348, 2
E1547541247. 3
51547541248, 4

Question Number : 13 Question Id : 61547510606 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following groups has the components of paralanguage communication?

(1) Voice, Emphasis and Impression
(2) Social Space, Voice and Impression
(3) Voice, Social Space and Expression

(4) Emphasis, Social Space and Voice

Options:

61547541349 1
615475413250 2
61547541251, 5
61547541352 4

Question Number : 13 Question Id : 61547510606 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547541349 1
615475413250 2
£1547541251. 2
61547541352 4

Question Number : 14 Question Id : 61547510607 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How many National Parks and Wildlife Sancturies were there in India till March 20117

(1) 8 and 421 only (2) 10 and 75 only
(3) 75 and 421 only (4) 102 and 515 only
Options:

E15475412353. 1
51547541254, 2
51547541355 3
61547541356, 4

Question Number : 14 Question Id : 61547510607 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) a8 &R 421 (2) Had 10 31 75
(3) I 75 W 421 (4) FaA 102 3R 515
Options:

61547541352, 1
E1547541354. 2
£15475412355. 3
51547541356, 4



Question Number : 15 Question Id : 61547510608 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following 1s signified by Udaharana of Anumiana (Inference) in

Indian Logic?

(1) Statement of reason

(2) Proposition to be proved

(3} Conclusion proved

(4) Universal proposition along with an instance
Options:

61547541357, 1
61547541358, 2
E15475412359. 3
51547541260, 4

Question Number : 15 Question Id : 61547510608 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
61547541357 1
E1547541358. 2
E1547541359 3
61547541360 4

Question Number : 16 Question Id : 61547510609 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Devdatta 1z fat and he does not eat during the day. Therefore. Devadatta 1s eating during

the mght.

The above example. 1n classical Indian School of Logic. 1= a case of :

(1) Comparison (2) Implication
(3) Perception (4) Verbal Testimony
Options:

E1547541261. 1
E1547541362. 2
515475412363, 3
61547541264, 4

Question Number : 16 Question Id : 61547510609 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
615475415611
61547541562 2
61547541563 2
1547541264 4

Question Number : 17 Question Id : 61547510610 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

As per the classical square of opposition, if ‘A’ proposition is given as true, then which one
of the following is correct?

(1) “E” proposition 1s false, “I” proposition is true and “O” proposition 1is false

(2) “E” proposition 1s true, “I” proposition is true and “O” proposition is true

(3) “E” proposition is false, “I” proposition is false and “O” proposition is true

(4) “E” proposition is true, “I” proposition is false and “O” proposition is false
Options:

51547541265, 1
615475412366, 2
61547541367, 3



E15475412658. 4

Question Number : 17 Question Id : 61547510610 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547541365, 1

61547541366, 2

61547541367, 3

61547541368, 4

Question Number : 18 Question Id : 61547510611 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following propositions is a contrary to “All poets are dreamers”?

(1) Some poets are dreamers (2) Some poets are not dreamers
(3) No poets are dreamers (4 No dreamers are poets
Options:

61547541265, 1
61547541370, 2
61547541371, 3
E15475412372. 4

Question Number : 18 Question Id : 61547510611 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
[ [ m e B i, = L [ i = e W i I ) ™ ) -
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Options:

61547541369, 1
61547541370, 2
E1547541271. 3
B15475412372. 4

Question Number : 19 Question Id : 61547510612 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which among the following is NOT a component of effective teaching?

(1) Questioning to check for the understanding of students
(2) Providing students with feedback

(3) Being flexible about how long it takes to learn

(4) Reactive mode of student’s behaviour
Options:
61547541373. 1
61547541374, 2
61547541375, 3
61547541376, 4

Question Number : 19 Question Id : 61547510612 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475413731
61547541374 2
61547541375 2
61547541276, 4

Question Number : 20 Question Id : 61547510613 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following factors doesn’t contribute to assessment bias?

(1) When language of the test and the tester is different from the languages of the

students

(2) Answers that support middle — class values

(3) If assessment procedures are flexible and diverse to make disadvantaged students
comfortable

(4) Objective test for assessing abstract reasoning of the student.

Options:
61547541377, 1
£1547541=57E 2



E15475412373. 3
61547541280, 4

Question Number : 20 Question Id : 61547510613 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475412377, 1
61547541378 2
615475413793 2
61547541280 4

Question Number : 21 Question Id : 61547510614 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following is NOT related to qualitative research?

(1) Thematic analysis (2) Case study
(3) Discourse analysis (4)  Survey method
Options:

61547541381, 1
61547541382, 2
E1547541383. 3
E1547541284. 4

Question Number : 21 Question Id : 61547510614 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547541281, 1
61547541382 2

61547541383, 3



E1547541284. 4

Question Number : 22 Question Id : 61547510615 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Social Sciences, a central issue is the question of whether the social world can be studied
using the methods of natural sciences. This statement refers to the issue of :

(1) Ontology (2) Axiology
(3) Epistemology (4) Etymology
Options:

61547541385, 1
61547541386, 2
E1547541387. 3
E1547541288. 4

Question Number : 22 Question Id : 61547510615 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547541285, 1
61547541286, 2
61547541387, 3
615475413858, 4

Question Number : 23 Question Id : 61547510616 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following i1s not the outcome of grounded theory research?

(1) Concepts (2) Narrative
(3) Categories (4) Hypotheses
Options:

61547541359, 1
E1547541230. 2
E1547541291. 3
5154754123582, 4

Question Number : 23 Question Id : 61547510616 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

515475412859, 1
61547541330, 2
615475413391, 3
E15475412392. 4

Question Number : 24 Question Id : 61547510617 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Identify the factors that do not contribute to the effectiveness of teaching from the options
given below :
(a) Socio — economic background of Teacher
(b) Teacher’s skill in pleasing the students
(c) Teacher’s subject knowledge

(d) Teacher’s personal contact with students

Choose the correct option :

(1) (a), (c) and (d)
(2) (b), (c) and (d)
(3) (a), (b) and (c)
(4) (a), (b) and (d)
Options:

61547541293 1
61547541394 2

61547541335 3
E15475413596. 4

Question Number : 24 Question Id : 61547510617 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)  Torersh =i HTEIH-3UF T8YH
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TE oo T

(1)  (a), (c) R (d) 2) (b), (c) X (d)
(3)  (a), (b) 3 (c) (4) (a), (b) 3R (d)
Options:

61547541392 1
E1547541254. 2
£15475413395. 3
515475412396, 4

Question Number : 25 Question Id : 61547510618 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Select the alternative features from the following, which make open universities as

non-traditional universities :

(a) Innovative method of teaching and learning
(b) Innovative method of admission, curriculum and evaluation
(c) Modern communication techniques

(d) Teacher’s friendly approaches

Select the correct option :

(1) (b), (c) and (d) only
(2)  (a), (b) and (c) only
(3) (a), (c) and (d) only
4)  (a), (b) and (d) only

Options:
51547541297, 1



E1547541398. 2
615475412595, 3
51547541400, 4

Question Number : 25 Question Id : 61547510618 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) a4 (b), (c) 37 (d) (2) I (a). (b) T (c)
(3) A (a), (c) AR (d) (4) Fa4 (a), (b) HAX (d)
Options:

E15475413597. 1
E1547541398. 2
515475412399, 3
51547541400, 4

Question Number : 26 Question Id : 61547510619 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Regarding E-governance. which of the following statements 1s / are correct?

(a) Decreasing transparency 1s an ICT enabled advantage of E-Governance.

(h) E-governance 1= related to the implementation of ICT 1n the government processes and
functions.

(c) Common Service Centres (CSCs) help 1n providing and using E-Governance related
services.

Choose the correct option :

(1) (a). (b). and (c)
(2) (b) and (c) only
(3) (a) and (c) only

(4) (a) and (b) only
Options:
61547541401,
E154754140%.
B1547541403
61547541404

[ N

Question Number : 26 Question Id : 61547510619 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1)  (a), (b) 3K (c) (2) A (b) AKX (c)
(3)  FaH (a) HN (c) (4) FAA (a) AN (b)
Options:

51547541401, 1
61547541402 2



51547541403, 3
51547541404, 4

Question Number : 27 Question Id : 61547510620 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following statements 1s / are correct?

(a) Software 1z loaded into secondary storage from RAM and 1s then executed hy
the CPU.
(b) A search engine 1= a software svstem that 1s designed to search for information on

the www.

Choose the correct option :

(1) (a) only
(2) (b) only
(3) Both (a) and (b)

(4) Neither (a) nor (b)
Options:
61547541405 1
61547541406, 2
61547541407, 3
61547541408, 4

Question Number : 27 Question Id : 61547510620 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547541405, 1
61547541406, 2
£1547541407. 2
61547541408, 4

Question Number : 28 Question Id : 61547510621 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below is a question followed by three statements. Identify the statements that are

necessary to answer the question.

Question : What is the percentage profit gained by a vendor when he sells an article?

Statements :
(a) He gives a 10% discount on the marked price.
(b) He would have earned 25% profit if he did not give any discount.

(c) The cost price of the article 13 Rs.8000.

Choose the correct option from those given below :

(2) (b) and (c) only
(3) (a) and (c) only

(4) (a), (b) and (c¢)
Options:
61547541409 1
61547541410 2
61547541411 3
61547541412 4

Question Number : 28 Question Id : 61547510621 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) =3 (a) R (b) (2) #aa (b) 3 (c)
(3) A (a) W (c) (4) (a), (b) I (c)
Options:

61547541409 1
61547541410, 2
61547541411, =
E154754141%2. 4

Question Number : 29 Question Id : 61547510622 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following statements are true about a fuel cell?

(a) It is a device that uses electrochemical reactions to produce electric current
(b) It consists of a positive electrode and a negative electrode separated by an electrolyte
(c) Just like batteries it needs to be recharged with an electric current

Choose the correct option from those given below :

(1) (a) and (b) only
(2)  (b) and (c) only
(3) (a) and (c) only

(4) (a), (b) and (c)

Options:
615475414131
61547541414 2



51547541415 3
51547541416, 4

Question Number : 29 Question Id : 61547510622 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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4)  (a). (b) I (c)
Options:
615475414131
61547541414 2
61547541415 =
61547541416, 4

Question Number : 30 Question Id : 61547510623 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Consider the following statements with reference to the proposition "Some girls are not
students”

(a) Subject term students 1z distributed

(b) Predicate term girls 1s undistributed

(c) Predicate term students 1z distributed

(d) Subject term girls 1s undistributed

Choose the correct option from those given below:

(1) Only (a) and (c) are correct
(2) Only (b) and (c) are correct
(3) Only (a) and (d) are correct

(4) Only (c) and (d) are correct
Options:
615475414171
1547541418 2
61547541419 2
61547541420 4

Question Number : 30 Question Id : 61547510623 Question Type: MCQ 'Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547541417. 1
61547541418, 2
61547541419 3
61547541420, 4

Question Number : 31 Question Id : 61547510624 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Choose two factors that do NOT affect the academic performance of students adversely :

(a) Low zelf — efficacy belief
(b) Belief in God
(c) Indifferent attitude towards politics

(d) Teacher's low expectation from students

Choose the correct option :

(1) (a) and (b) only
(2) (b) and (c) only
(3) (c) and (d) only

(4) (b) and (d) only

Options:

61547541421, 1
61547541422 2
61547541422 =2
£1547541424 4

Question Number : 31 Question Id : 61547510624 Question. Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  Fa (a) 31 (b)
(2) e (b) 3T (¢)
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Options:

61547541421, 1
E1547541422 2
61547541422 5
61547541424 4

Question Number : 32 Question Id : 61547510625 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the two statements from the following statements are correct?

(a) Sampling — related error 1z subsumed under the category non-sampling error

(b} Sampling error doesn’t occur in multi-stage cluster samphng

(c) Inaccurate samphng frame and non-response are examples of sampling — related
e1Tor.

(d) There 1= an inverse relation between heterogeneity of population and sampling error.

Choose the correct option :

(1) (a) and (c) only
(2) (a) and (d) only
(3) (b) and (d) only

(4) (b) and (c) only
Options:
£1547541425 1
61547541426, 2
61547541427 2
£1547541428. 4

Question Number : 32 Question Id : 61547510625 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547541425 1
61547541426 2
E1547541427. 2
61547541428, 4

Question Number : 33 Question Id : 61547510626 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following historic places with their distinguishing discipline of learming

Last I List IT
Historic places Discipline
(a) Takshila (1)  Astronomy
(b) Ujjain (1) Buddhism
() Sarnath (m) Art. Architecture and Painting
(d) Ajanta (1v) Medicine

Choose the correct option from those given below :

(1) (a)-(1). (b)-(11). (c)-(m1). (d)-(1v)
(2) (a)-(11). (b)-(1). (e)-(1v). (d)-(111)
(3) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)
(4) (a)-(1v). (b)-(1). (e)-(11). (d)-(111)

Options:

51547541429, 1

515475414350 2

51547541421, 3
61547541432, 4

Question Number : 33 Question Id : 61547510626 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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@ @-GD), (b)-Q), (-Gv), (d)-@{i)
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Options:

61547541429, 1
E1547541420. 2
61547541421, 5
61547541422 4

Question Number : 34 Question Id : 61547510627 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following soil orders with their descriptions

(a) Histosols (1)
(b) Andisols (1)
(c) Gelisols (111)
(d) Aridsols (1v)

Choose the correct option from those given below :

—

) (a)-(1v), (b)-Q), (c)-(11), (d)-(111)
2) (a)-(11), (b)-(iv), (¢)-(1), (d)-(111)
3) (a)-(@), (b)-(11), (c)-(111), (d)-(v)
(4) (a)-(1), (b)-(11), (c)-v), (d)-(i11)

Options:

61547541433, 1
61547541434 2
61547541435 =
1547541426 4

(

_—

Soil order that includes soils formed on
volcanic ash

Soil order of cold regions including
soils underlain by permafrost

Soil order consisting of soils of dry
climates

Soil order consisting of soils with a
thick upper layer of organic matter.

Question Number : 34 Question Id : 61547510627 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(1v), (b)-(1), (e)-(11), (d)-(111)
(2) (a)-(11), (b)-(1v), (c)-(1), (d)-(111)
(3) (a)-(1), (b)-(i1), (c)-(ii1), (d)-(iv)
4) (a)-(1), (b)-(i1), (¢)-(iv), (d)-(111)

Options:

51547541433, 1

61547541434 2

61547541435 =2

61547541426 4

@
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Question Number : 35 Question Id : 61547510628 Question Type : MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Match List — I with List - IT

List I
(Digital Initative)
(a) UMANG
(by BHIM
(c) eBiz
(d) SWAYAM

Choose the correct option :

(1) (a)-(i1), (b)-(1), (c)-(111), (d)-(v)
(2) (a)-(111), (b)-(11), (¢)-(iv), (d)-@)
(3) (a)-(1v), (b)-(ii), (¢)-(1), (d)-(i1)
(4) (a)-(1), (b)-(1v), (c)-(11), (d)-(i11)

@)
(i1)
(111)

(iv)

List II
(Purpose)
G2B Services
Learning platform
Unified payment interface

Single point of access to all

governme nt services.



Options:

51547541437, 1
£1547541428 2
£1547541429 =2
61547541440, 4

Question Number : 35 Question Id : 61547510628 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(i1), (b)-(1), (e)-(ii1), (d)-(Qv)
(2) (a)-(iii), (b)-(i1), (c)-(iv), (d)-()
(3) (a)-(iv), (b)-(i11), (¢)-(1), (d)-(11)
(4) (a)-(1), (b)-(1v), (e)-(11), (d)-(111)

Options:

61547541437, 1

61547541438 2

61547541439, 3
61547541440, 4

Question Number : 36 Question Id : 61547510629 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match correctly the items of Column I with the items of column II

(a)
(b)
(c)
(d)

Column I

Ontology
Epistemology
Methodolgy
Method

Choose the correct option :

(1)
(2)
(3)
4)

Options:

(2)-(11), (b)-(1v), (c)-(111), (d)-@)
(2)-(11), (b)-(1), (c)-(111), (d)-(1v)
(a)-(1v), (b)-(11), (c)-(@), (d)-(111)
(a)-(1), (b)-av), (c)-(1), (d)-(111)

61547541441, 1
E1547541442 2
E1547541443. 3
51547541444, 4

Column II

(1) Ideographic
(11) Realism
(111) Survey

(1iv) Positivism

Question Number : 36 Question Id : 61547510629 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)
(2)
(3)
(4)

Options:

(a)-(11), (b)-(1v), (c)-(1il), (d)-(1)
(a)-(11), (b)-(1), (c)-(11), (d)-(1v)
(a)-(iv), (b)-(11), (c)-(1), (d)-(ii1)
(a)-(11), (b)-(1v), (c)-(1), (d)-(1i1)

E1547541441. 1
61547541442 2
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(i)  TEEFEd
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(iii) FIeTor
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E1547541443. 3
51547541444, 4

Question Number : 37 Question Id : 61547510630 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Select the advantage of feedback 1n the process of communication. from the following :

(1) It 1s beneficial in understanding of the subject matter
(2) It diagnoses the defects in receiver
(3) It clarifies the communication
(4) It explores the defects in receiver
Options:

61547541445 1
61547541448, 2
E1547541447. 3
E15475414458. 4

Question Number : 37 Question Id : 61547510630 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547541445 1
61547541446, 2
61547541447, 3
E1547541445. 4

Question Number : 38 Question Id : 61547510631 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following values with their distinguishing functions :

List I List IT
(a) Sacrifice (1 Working in a stipulated time
(b)  Sincerity (11) Confinement of individual mind on
action
(c) Self control (111) Showing love and affection
(d) Altruism (iv) Helping without selfish motives

Choose the correct option from those given below :

(1) (a)-(11), (b)-(), (¢)-(iv), (d)-(111)
(2) (a)-(1v), (b)-(1), (¢)-(i1), (d)-(111)

(3) )-(111), (b)-(1v), (c)-(1). (d)-(11)
4) (a)-(1), (b)-(111), (c)-(11), (d)-(1v)
Options:

E1547541445. 1
51547541450, 2
51547541451, 3
61547541452, 4

Question Number : 38 Question Id : 61547510631 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1 (2)-G1), (b)-(). (c)-(v), (d)-(ii1)
(2) (a)-(iv), (b)-(1), (e)-(i1), (d)-(ii1)
(3) (a)-(iii), (b)-(iv), (¢)-(1), (d)-(i1)
(4) (a)-(1), (b)-(Gid), (¢)-G1), (d)-Av)

Options:

61547541449 1
61547541450 2
61547541451 =2
E1547541452 4

Question Number : 39 Question Id : 61547510632 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Select the option that lists components for a cyberspace address (URL) in the correct order
from beginning to end?

(1) Protocol, domain name of the host, path / file
(2) Path / file, protocol, domain name of the host
(3) Protocol, path /file, domain name of the host
(4) Domain name of the host, protocol, path / file

Options:

15475414521

£1547541454 2

61547541455 2

51547541456 4

Question Number : 39 Question Id : 61547510632 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



HEEE UH (F W UA) &G T<HI hl FA A AHeT A IT F AT IF Ta1 FH § 7, FH F91 H |

(1)  TRFERS, B & SMHEA F 9, T/ w5
(2) MY /HIEA, WA, FRE o SHF S 9
(3) TR, MY /HEA, BES F TEA F1 AH
(4) B T THA T A, WSS, TS/ EEA

Options:

61547541453 1
61547541454 2
61547541455 =2
E1547541456 4

Question Number : 40 Question Id : 61547510633 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following sequence represents the correct order of soil particles arranged in
terms of particle size from the smallest to the largest?

(1) Gravel, Silt, Clay, Sand (2) Silt, Clay, Gravel, Sand
(3) Clay, Silt, Sand, Gravel (4) Silt, Clay, Sand, Gravel
Options:

E1547541457.
515475414586,

E1547541453.
51547541480,

[ N S

Question Number : 40 Question Id : 61547510633 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FEfTRad & % 91 AGHA B ATHR T 52 ATHR & 00 & H&l T & 7 F Tal w187
(L = [P: e, \--=' ST

[ = [}

(2) e, e, ET STe]

(3 e, T, 9w, s

(4) T, e, sTe], e,

Options:

61547541457,
61547541458,
51547541459,
£1547541460,

[ N

Question Number : 41 Question Id : 61547510634 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the steps of research in the sequence in which they are presented in the thesis

(1) Discussion, Review of Literature, Results, Conceptual Framework, Problem

(2) Review of Literature, Problem, Conceptual Framework, Result, Discussion

(3) Problem, Review of Literature, Conceptual Framework, Results, Discussion

(4) Problem, Review of Literature, Conceptual Framework, Results, Discussion
Options:

E1547541461. 1
E1547541462. 2
61547541463, 3
61547541464, 4

Question Number : 41 Question Id : 61547510634 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

IMI-FTHT 1 IMG-Te=4 § T&qq Fd T 6T T T 1 S 2 ¢

(1) O, |rfecd =hi TEie, TRTE, STFERo =1, TEE
(2)  TEcT <hi THIETT, TS, FAGENON T, TR, gt
(3)  HHEAI, Hifzcd hi THIETT, SGERON S, T
(4)  THE, Hifecd hi JHeT, AFGERIN ST, Ted]

Options:

61547541461, 1
E15475414E82. 2
61547541462 o
61547541464 4

Question Number : 42 Question Id : 61547510635 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements - one 1s labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A) :  Through on-line teaching a large number of students can be taught by very

competent faculty.

Reason (R) : On-line teaching helps students in developing critical thinking more than

the Off —line teaching can do.

In the light of the above two statements choose the correct option :

(1)
(2)
(3)
(4)

Options:

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true and (R) is not the correct explanation of (A)
(A) 1s true, but (R) 1s false

(A) 1s false, but (R) 1s true

61547541465 1
61547541466, 2
61547541467, 3
E15475414E58. 4

Question Number : 42 Question Id : 61547510635 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547541465, 1

61547541466 2

61547541467, 2

61547541465, 4

Question Number : 43 Question Id : 61547510636 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements - one is labeled as Assertion (A) and the other 1s labeled as

Reason (R):
Assertion (A): A blog is a form of social media.
Reason (R) : A blog allows anyone to communicate to a public audience.

In the light of the above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are ture and (R) 1s not the correct explanation of (A)
(3) (A) 1s true, but (R) is false

(4) (A) 1s false, but (R) 1s true



Options:

51547541469, 1
61547541470 2
£1547541471. 2
61547541472 4

Question Number : 43 Question Id : 61547510636 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3) (A HEl & Frd (R) 7o B |

(4) (A) Td & TRd (R) 9=l 2 |

Options:

51547541469, 1
61547541470 2
61547541471, 2
61547541472 4

Question Number : 44 Question Id : 61547510637 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements - one is labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A) :  Skill development is a key feature in every individual’s life.
Reason (R) : An individual who wants to get employed, needs to possess good education
only.

In the context of above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) is true
Options:
61547541473 1
E1547541474. 2
61547541475 2
61547541476 4

Question Number : 44 Question Id : 61547510637 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

41 21 e fouw 0 E- w1 AfeEme (A)( SR g5 F a6 ®) Fa T
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(1)  (A) 3| (R) H 5@l & 31 (A) =1 =81 =& (R) 217

(2)  (A) ¥R (R) THI H&l & T, (A) =l Hel =me (R) T8 2 |

(3) (A) T8 8, 7 (R) &4 2 |

4) (A T4z, g (R)TE 2

Options:
615475414731

E1547541474. 2



E1547541475. 3
61547541476, 4

Question Number : 45 Question Id : 61547510638 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below are two statements - one is labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A) :  Government of India established higher educational statutory bodies to

ensure quality of education.

Reason (R) : There are some educational institutions in India which do not provide

quality education.

In the context of above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) 1s false

(4) (A) 1s false, but (R) 1s true
Options:

615475414771

E1547541478. 2

61547541479 2

61547541450 4

Question Number : 45 Question Id : 61547510638 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4) (AT B WG, (R) TR R
Options:
61547541477, 1
61547541478 2
61547541479 2
E15475414280. 4

Sub-Section Number: 3
Sub-Section 1d: 615475461
Question Shuffling Allowed : Yes

Question Id : 61547510639 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuesticon Label | Comprehension



Read the following passage and answer questions which follow.

Eventhough globalisation 1s one of the most discussed topics in the contemporary world. it 1s
not altogether a well defined concept. A multitude of global interactions are put under the
broad heading of globalisation. varving from the expansion of cultural and scientific
influences across borders to the enlargement of economic and business relations throughout
the world. A wholesale rejection of globalisation would not only go against global business, 1t
would also cut out movements of 1deas. understanding. and knowledge that can help all the
people of the world. including the most disadvantaged members of the world population. A
comprehensive rejection of globalisation can thus be powerfully counterproductive. There 15 a
strong need to separate out the different guestions that appear merged together in the
rhetoric of the antiglobalisation protests. The globahsation of knowledgze deserves a
particularly high profile recognition. despite all the good things that can be rghtly said
about the importance of "Local knowledge”.

Globalisation 1s often seen. both 1n journalistic discussions and in remarkably many
academic writings. as a process of westernization. Indeed. =ome who take an upbeat view of
the phenomenon even sees 1t as a contribution of Western civilization to the world.

Sub questions

Question Number : 46 Question Id : 61547510640 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to the passage, which one of the following is not a well defined concept?
(1) Multiculturalism
(2) Identity
(3) Globalisation
(4) Local Knowledge

Options:

615475414511
61547541482, 2
61547541482 5
61547541454 4

Question Number : 47 Question Id : 61547510641 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to the passage, which one of the following is counter productive?
(1) Comprehensive support to globalisation

(2) Wholesale rejection of globalisation

(3) Comprehensive rejection of anti — globalisation protests
(4) Recognition of local knowledge systems

Options:



E1547541485. 1
61547541486, 2
515475414587, 3
615475414558, 4

Question Number : 48 Question Id : 61547510642 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to the passage, globalisation i1s perceived often by media and academia as :

(1) Supporting local knowledge systems
(2) Detrimental to local knowledge systems
(3) A process of Westernisation

(4) A process of facilitating global bussiness
Options:
E1547541459 1
615475414590 2
61547541491 =
61547541432 4

Question Number : 49 Question Id : 61547510643 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The attempt of the author in the passage is :

(1) Unconditioned advocacy of globalisation

(2) Unconditioned rejection of globalisation

(3) Unconditioned rejection of local knowledge systems
(4) Unbiased evaluation of globalisation

Options:

615475414593 1
61547541434, 2
61547541435, 3
E15475414356. 4

Question Number : 50 Question Id : 61547510644 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



As per the passage, a wholesale rejection of globalisation would result in affecting

(a) Global businesses
(b) Movement of Ideas

(c) Local knowledge systems

Choose the correct answer from the options given below :

(1)  (a) and (b) only
(2)  (a) and (c) only
(3)  (c)and (b) only
(4) (a), (b) and (c)

Options:

51547541497, 1
61547541498, 2
61547541499 =
61547541500 4

Question Id : 61547510639 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Question Label . Comprehension
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Sub questions

Question Number : 46 Question Id : 61547510640 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1)  Sg-HEHidar (2) TEEH
(3)  IAvEEE (4) TIEE T=

Options:

61547541481, 1
E1547541482 2
61547541482 5
61547541454 4

Question Number : 47 Question Id : 61547510641 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T % AN AElAlEd d | w5 w2

(1) ATt = ==TE TEYE (2) Ty F =T 'ﬂI’]ﬁf?ﬁrﬁ

(3)  dvdrmo-Tandi ugei ff = AEHa (4)  THE T Ggiedl S e
Options:

61547541485 1

E1547541486. 2

E1547541487. 3

61547541485 4

Question Number : 48 Question Id : 61547510642 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TEIST % STIHR ITSR i HITSaT ST STRga! g0 | &9 | <@ Sl 87

(1) TIEE IH TZG F1 T899 (2) TIHE TH TZA F T FHEEE
(3)  TTTETSASR T U Wi (4) Tava =mm F1 gy 999 F TF ghE
Options:

E1547541489. 1
615475414350 2
615475414391, 3
61547541432, 4

Question Number : 49 Question Id : 61547510643 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
= TR L [ A 3 1 - (i .T'L,
TEY § SEE A HEIEngd 5 " R W A WA B Y

(1) TR ] T8 910 SR AT (2) AT ] TS TG ST

(3) T T U B AT O SR FAT (4) Sy 1 9 e e e |



Options:

51547541493, 1
61547541494 2
£1547541495 =2
61547541496, 4

Question Number : 50 Question Id : 61547510644 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T o STIER AT v 1 72 T T TR AT Hefdigd 7 | e THTiad e ¢

(a)  JTas =R
(b)y o= =+ vamE

(c) LTI F9 TE

I feg T faeredt ¥ 9 98 I == ity

s

(1)  %aa (a) 3R (b)

%

(2)  HFA (a) AN (c)

(3)  =FaA (c) FR (b)

4  (a), (b) IR (¢)
Options:
1547541497 1
E1E47E41498. 2
L1547541499 =
L1547541500. 4

PART II Indian Culture

Section Id : 615475142

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 92

Number of Questionsto be attempted: 92

Section Marks: 200

Display Number Pane: Yes

Group All Questions: No
Sub-Section Number: 1

Sub-Section 1d: 615475462



Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 61547510645 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who introduced the Bill, which was later enacted as child marriage (Restraint) Act in 19297

(1) Vithalbhai Patel (2) Harbilas Sarda
(3) Dr. B. E. Ambedkar (4) K. M. Munsh
Options:

61547541501, 1
E1547541502. 2
E1547541503. 3
51547541504, 4

Question Number : 51 Question Id : 61547510645 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

39 faeras =1 foraa wea fora on fomt ame 1 1920 4 ave Taame (wiame) siferfag 3 =g O @ fra mn?

@ Pemws (2) EE™ 9E
(3) =1 . 3N, s @ ¥ m e
Options:

E1547541501. 1
61547541502 2
61547541503, 3
61547541504, 4

Question Number : 52 Question Id : 61547510646 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which place the Kerala Congress committee decided to launch a satyagraha on March 30.
1924, where untouchables were forbidden to use the road leading to the temple?

(1) Trivendrum (2) Vaikom
(3) Cochin (4) Ernakulam
Options:

61547541505, 1
E1547541506. 2
61547541507, 3
61547541508, 4

Question Number : 52 Question Id : 61547510646 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) fE=m (2) 4EHM
(3) A (4) TUATFEH
Options:

E1547541505. 1
E1547541506. 2
61547541507, 3
61547541508, 4

Question Number : 53 Question Id : 61547510647 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who wrote The High Caste Hindu Woman?

(1) Pandita Ramabai (2) Mrs. Ramabai Ranade
(3) Mrs. Godutai Earve (4) Mrs. Parvatibai Athawale
Options:

61547541509, 1
61547541510, 2
E1547541511. 3
E1547541512. 4

Question Number : 53 Question Id : 61547510647 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

7 B #2 fog quahl <Aflem 19 27

(1) fed TR (2) o TarET v

(3) ATeefl TTgerrs = (4) el grEdTETs e
Options:

61547541509, 1
61547541510, 2
E1547541511. 3
E1547541512. 4

Question Number : 54 Question Id : 61547510648 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who were the founders of revivalist and militant "Gurukul faction of the Arya Samajists?

(1) Guru Dutt and Lala Hans Raj (2) Lala Hans Raj and Lekh Ram
(3) Lekh Ram and Lala Lajpat Ra1 (4) Lekh Ram and Munshi Ram



Options:

615475415131
61547541514 2
£1547541515 =2
61547541516, 4

Question Number : 54 Question Id : 61547510648 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547541513. 1
51547541514, 2
61547541515 3
61547541516, 4

Question Number : 55 Question Id : 61547510649 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following papers was not conducted by the servants of India Society?

(1) The Servants of India (2) Dnyvan Prakash
(3 Hitwad (4) Navayuga
Options:

61547541517, 1
61547541518, 2
E1547541518. 3
E1547541520. 4

Question Number : 55 Question Id : 61547510649 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

feferfiaa | 4 form \eTaRTs 1 U Bd2d AT Sfean drard g 98 frn e

@ 2w e o
(3) fedans (4) T
Options:

E1547541517. 1
E1547541518. 2
61547541515, 3
61547541520, 4

Question Number : 56 Question Id : 61547510650 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Jahangir called the aimas/madad-1 : maash holders (holders of charity land) as the :

(1) army of prayvers (2) army of fighters
(3) army of invalids (4) army of innocents
Options:

61547541521, 1
61547541522 2
61547541523, 3
E1547541524. 4

Question Number : 56 Question Id : 61547510650 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  3aEd &3 Jrel] o1 |51 (2) AT HAT
(3) 9 IEA (4) TEm i a
Options:

61547541521, 1
E1547541522. 2
E1547541523. 3
B1547541524. 4

Question Number : 57 Question Id : 61547510651 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following 1s not the painter of Jahangir's Court?

(1) Mansur (2) Manohar
(3) Abdus Samad (4) Abul Hasan
Options:

E1547541525. 1
61547541526, 2
61547541527, 3
61547541528, 4

Question Number : 57 Question Id : 61547510651 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) 4% (2) wAH
Options:

615475415251
61547541526, 2
E1547541527. 3



E1547541528. 4

Question Number : 58 Question Id : 61547510652 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the emperor who stated about his father's choice of the Sufil food in the following
words :

"Of the austerities practiced by my revered father, one was not eating the flesh of animals.
During three months of the year he ate meat, and for the remaining nine contented himself
with sufi food™ :

(1) Humayun (2) Akbar
(3 Jahangir (4) Shahjahan
Options:

6154754152591
61547541520, 2
61547541521, 3
E1547541532. 4

Question Number : 58 Question Id : 61547510652 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 7Y Q). #HEW
(3)  SfErf (4) INER
Options:

E1547541529. 1
E1547541530. 2
51547541521, 3
61547541532, 4

Question Number : 59 Question Id : 61547510653 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who among the following Sultans abolished the system of assigning igtas to his standing
army and paid them a cash salary?

(1) TItutmish (2) Balban
(3) Alauddin Khalj (4) Muhammad Tughlag
Options:

51547541533, 1
61547541534, 2
61547541535 3
61547541536, 4



Question Number : 59 Question Id : 61547510653 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  segdfa (2) s
(8)  HAATIZEH Eet| (4) YaErHE g
Options:

E1547541533. 1
E15475415234. 2
61547541535 3
61547541536, 4

Question Number : 60 Question Id : 61547510654 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In the building industry, with new techniques, when did ‘blue, diapered and banded tiles and
pottery” began to be manufactured 1in India?

(1) From the thirteenth century onwards (2) From the fourteenth century onwards
(3 From the fifteenth century onwards (4) From the sixteenth century onwards
Options:

E1547541537. 1
61547541538, 2
61547541535, 3
61547541540, 4

Question Number : 60 Question Id : 61547510654 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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()  ovediad 4 (2) et wd g
(3) vzediwdiH (4) Hietsdi 74 A
Options:

E1547541537. 1
E1547541538. 2
61547541535, 3
61547541540, 4

Question Number : 61 Question Id : 61547510655 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who among the following 1s regarded as the father of algebra?

(1) Varahamihira (2) Brahmagupta
(3) Bharata (4) Aryabhatta
Options:

61547541541, 1
E1547541542. 2
E1547541543. 3
61547541544, 4

Question Number : 61 Question Id : 61547510655 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

faeaifara U9 fordl sitspriora =1 S 9 Sar 2 7

(1) JURHTR (2) SR
(3)  wid (4) wriaz
Options:

515475415411
61547541542 2
61547541542, 3
E1547541544. 4

Question Number : 62 Question Id : 61547510656 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arab writers namely Ibn Washiya. al-Masud: and al-Biruni give the credit for the discovery
of decimal system of notation to the :

(1) Hindus (2) Arabs
(3) Greeks (4) Egyvptians
Options:

61547541545, 1
E154754154E. 2
E1547541547. 3
51547541548, 4

Question Number : 62 Question Id : 61547510656 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) Teg=i= (2) 3l H
(3)  gATHEl I (4) Torgarfo =+
Options:

51547541545 1
61547541546, 2



E1547541547. 3
61547541548, 4

Question Number : 63 Question Id : 61547510657 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

One of the most spectacular sites showing a juxtaposition of shrines belonging to different
religious traditions 1s :

(1) Ellora (2) Sanchi
(3) Amravati (4) Mathura
Options:

E1547541548. 1
61547541550, 2
51547541551, 3
61547541552, 4

Question Number : 63 Question Id : 61547510657 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fafir=y enfifsr qiosti & edeered ) et =1 oy -am 29is 9% g9ty e d 4 o 2 -

(1)  UeAm (2) @
(8) L] (4) =IO
Options:

6154754154591
61547541550, 2
61547541551, =
E1547541552. 4

Question Number : 64 Question Id : 61547510658 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to R.C. Hazra. Upapuranas are an important source for writing social and
religious history of India from the :

(1) Buddha age onwards (2) Indo-Greeks till thirteenth century
(3) Post-Gupta period onwards (4) Eighth century onwards
Options:

E1547541553. 1
E1547541554. 2
61547541555, 3
51547541556, 4

Question Number : 64 Question Id : 61547510658 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) @gF=H (2) EE-Hi*y 13 adiaH
(3) I FHe | (4) 18ei|E | 3 Fl wE s
Options:

E1547541553. 1
E1547541554. 2
61547541555, 3
61547541556, 4

Question Number : 65 Question Id : 61547510659 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Temples built 1n the Deccan under the later Chalukyas of Kalyami and Hoysalas are
considered examples of what 1s known as :

(1) Nagara style (2) Drawida Style
(3) Vesara Style (4) Deccam Style
Options:

E1547541557. 1
51547541558, 2
61547541559, 3
61547541560, 4

Question Number : 65 Question Id : 61547510659 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E1547541557. 1
61547541558, 2
61547541559, 3
61547541560, 4

Question Number : 66 Question Id : 61547510660 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The caves at Udayvagirt and Khandagir (Orssa) are one of the oldest groups of :

(1) Buddhist rockcut caves (2) Apvaka rockcut caves

(3) Jaina rockecut caves (4) Carvaka rockecut caves



Options:

61547541561, 1
61547541562 2
1547541562 2
61547541564, 4

Question Number : 66 Question Id : 61547510660 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) T fyren aeEn (2) sArsfiass foren T
(3) S fTel THT (4) =rET faer T
Options:

61547541561, 1
E1547541562. 2
51547541563, 3
61547541564, 4

Question Number : 67 Question Id : 61547510661 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who among the following specially draws our attention to the fact that the ‘Gupta Style’ of
art owes equally to the patronage extended to it by the Vakatakas?

(1) J. C. Harle (2) Herman Goetz
(3) Walter Spink (4) Joanna Willhams
Options:

61547541565, 1
61547541566, 2
E1547541567. 3
E15475415658. 4

Question Number : 67 Question Id : 61547510661 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547541565. 1
61547541566, 2



E1547541567. 3
61547541568, 4

Question Number : 68 Question Id : 61547510662 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The discoveries of which site include a broken relief sculpture showing a king and gueen
flanked by female attendants? The inscription in Brahmi letters read ‘Ranvo Ashoka’ (Eing
Ashoka) :

(1) Sanchi (2) Topra
(3) Kanaganahalh (4) Sohgaura
Options:

61547541569, 1
E1547541570. 2
E1547541571. 3
61547541572, 4

Question Number : 68 Question Id : 61547510662 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 9= (2). AT
(3)  FHZE (4)  HE
Options:

61547541569, 1
E1547541570. 2
E1547541571. 3
B1547541572. 4

Question Number : 69 Question Id : 61547510663 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“If Pamini has determined the nature of Sanskrit for all time. Manu has determined Hindu
conduct for all time”. Whose quote 1s this?

(1) V. A. Ramaswam Sastri (2) V. Raghavan
(3) E. B. Panday (4) P.B. Gajendragadkar
Options:

E1547541573. 1
61547541574, 2
61547541575 3



E1547541576. 4

Question Number : 69 Question Id : 61547510663 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“afe w3 3 war-wde & fom wepa A1 wala & fafwem fen 2 @ w3 ga-ada & fou fg sram =
fafvema forn 2.7 e T s 27

(1) A1, U, T 9T (2) =i, =EA
(3) 3. . 9=y (4) . . T
Options:

615475415721
E1547541574. 2
61547541575 3
61547541576, 4

Question Number : 70 Question Id : 61547510664 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“...the epic is essentially a literary crystallization of the heroic ideal. By its very nature,
therefore, 1t 1s not to be taken as factual evidence but as the representation of an i1deal...”

Who 1s the author of these lines?

(1) D. D. Kosambi (2)  R.S. Sharma
(3) Romila Thapar (4) A.L. Basham
Options:

61547541577, 1
61547541578, 2
E1547541578. 3
E1547541580. 4

Question Number : 70 Question Id : 61547510664 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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Options:

B1547541577. 1
61547541578, 2
61547541579, 3
61547541580, 4



Question Number : 71 Question Id : 61547510665 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following enshrined the relics of the Buddha and built a monastery at
Taxila?

(1) Azes I (2) Gondophernes
(3) Patika (4) Mihirkula
Options:

61547541581, 1
61547541582, 2
61547541582, 3
E1547541584. 4

Question Number : 71 Question Id : 61547510665 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

feafierd 1 forad g srami =1 gfaeifia foran i aafoen O vk o2 a9m?

1) wEI (2) TiErETH
Options:

61547541581, 1
61547541582, 2
E1547541583. 3
E1547541584. 4

Question Number : 72 Question Id : 61547510666 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The memorial in honour of an artisan has been found at :

(1) Gollarhatti (2) Nagarjunakonda
(3) Atkur (4 Tambur
Options:

51547541585, 1
61547541586, 2
61547541587, 3
61547541588, 4

Question Number : 72 Question Id : 61547510666 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547541585, 1
1547541586 2
E1547541587. 2
61547541588, 4

Question Number : 73 Question Id : 61547510667 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The oldest and best documented site which furnishes evidence about the change from
pastoral Iife to settled agrculture 1s situated 1n the :

(1) Bolan valley (2) Indus valley
(3) Kashmir valley (4) Son valley
Options:

61547541589, 1
61547541530, 2
61547541531, 3
E15475415582. 4

Question Number : 73 Question Id : 61547510667 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
g Sftad Sl & geraftum i 1 aftads & gafua mes weqa =9 aren weflaae it guerfaa wwe w2
e 27

(1) = (2 g9
(3)  Hwdi aT (4) | Hl= =
Options:

E1547541589. 1
E1547541530. 2
61547541551, 3
615475415392, 4

Question Number : 74 Question Id : 61547510668 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who among the following rulers had. on some of his gold coins. stamped the image of the
coddess Lakshmi?

(1) Muhammad Ghor (2) Qutbuddin Aibek
(3 Itutmish (4) Balban
Options:

E15475415593. 1
61547541554, 2
615475415385 3
615475415396, 4

Question Number : 74 Question Id : 61547510668 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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(3)  geddfu (4) wefa
Options:

E15475415593. 1
61547541554, 2
51547541585, 3
615475415396, 4

Question Number : 75 Question Id : 61547510669 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Rajasthan, particularly in the Western Rajasthan. when bridegroom reaches bride’'s house
for marriage. women sing a geef (song) known as Jalle-ra-geet which 1s addressed to :

(1) Bridegroom coming from Jalalabad  (2) A great Emperor ke Akbar Badshah

(3) God (4) Lord Shiva
Options:
61547541597, 1
61547541598 2
61547541599 =2
61547541600, 4

Question Number : 75 Question Id : 61547510669 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  SAeTrelarg § 331 arel gee Fil (2) SR ATEINE Y Uk HE HERE F
(3) S (4) wEH TEH
Options:

615475415397, 1
E154754153958. 2
E1547541595. 3
61547541600, 4

Question Number : 76 Question Id : 61547510670 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Who 1s known to have opined that ‘religion’ 1s the opium of the masses?

(1) Hegel (2) Karl Marx
(3) Gramsci (4) Joseph Needham
Options:

51547541601, 1
61547541602, 2
61547541602, 3
E1547541604. 4

Question Number : 76 Question Id : 61547510670 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) & (2) e QT
(3)  Tmeh (4) SrEE fam
Options:

E1547541601. 1
61547541802, 2
61547541603, 3
61547541604, 4

Question Number : 77 Question Id : 61547510671 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The terms ‘cultural scripts or texts’ are used to analyse the :

(1) data (2) statistics
(3) statements (4) cultural objects
Options:

61547541605, 1
E1547541608. 2
E1547541607. 3
51547541608, 4

Question Number : 77 Question Id : 61547510671 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“arefa forf s get mie’ (sFeate fige e ) wiseil =1 wam frwen faver) 5 = fore foran siman
a7

(1)  H*e (2) wifegd
(3) = (4) HEFfdF G
Options:

E1547541605. 1



E1547541606. 2
61547541807, 3
51547541808, 4

Question Number : 78 Question Id : 61547510672 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Sultan Firuz Tughlaq 1s known to have prefrerred slaves as presents from the nobles. Thus,
the number of royal slaves amounted to :

(1) 1.40.000 (2) 1.60,000
(3) 1.70.000 (4) 1.80,000
Options:

61547541609, 1
61547541610, 2
E1547541611. 3
E154754161%2. 4

Question Number : 78 Question Id : 61547510672 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 1.40,000 (2)  1.60,000
(3) 1.70,000 (4) 1.50.000
Options:

61547541609, 1
E1547541610. 2
E1547541611. 2
G154754161%. 4

Question Number : 79 Question Id : 61547510673 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following distinguished poets was perhaps the most cosmopolitan and
original poet in urdu?

(1) EKhwaja Mir Dard (2) Mohammad Rafl Sauda
(3) Mir Tagi Mir (4) Mirza Ghalib
Options:

615475416131
61547541614, 2
E1547541615 3
E1547541616. 4



Question Number : 79 Question Id : 61547510673 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

freferfiad 4 @ @ 34 1 dwad: gaffaes freard afvas aundifos #ia a7

(1) T g () geewe vh Hie
(3) it dn (4) o=t miera
Options:

E1547541613. 1
51547541614, 2
61547541615 3
61547541616, 4

Question Number : 80 Question Id : 61547510674 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Who founded the Arva Mahila Samaj?

(1) M. G. Ranade (2) Mrs. Savitribai Phule
(3) Dhondo Keshav Karve (4) Pandita Ramaba
Options:

615475416171
615475416158, 2
61547541619, 3
E1547541620. 4

Question Number : 80 Question Id : 61547510674 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547541617. 1
61547541618, 2
61547541615, 3
61547541620, 4

Question Number : 81 Question Id : 61547510675 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following 1s not associated with the Sufis?

(1) Langar (2) Qawwal
(3) Appreciation of slavery (4) Breath control
Options:

E1547541621. 1
B1547541822 2
61547541823, 3
61547541624, 4

Question Number : 81 Question Id : 61547510675 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(1) T (2) Fedre]
(3) =899 e (4)  varE fFaam
Options:

61547541621, 1
61547541622 2
E1547541623. 3
E1547541624. 4

Question Number : 82 Question Id : 61547510676 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who said : “Liberty in thought and action is the only condition of hife, growth and well-being.
Where 1t does not exist, the man. the race and the nation must go down"?

(1) Eeshub Chandra Sen (2) Lokmanya B.G. Tilak
(3) Swami Vivekanand (4) Mrs. Sarojinmi Naidu
Options:

61547541625 1
61547541626, 2
E1547541627. 3
E15475416258. 4

Question Number : 82 Question Id : 61547510676 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 9" =g 84 (2) e L, S e
(3) AT faFE=s (4) e | AT
Options:

E1547541625. 1
E1547541626. 2
B1547541827. 3
615475416828, 4

Question Number : 83 Question Id : 61547510677 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
At the special session of Congress held i1n Bombay. who demanded that extending franchise

to women was rational. scientifically and politically sound. compatible with tradition and
consistent with human rights?

(1) Mahatma Gandhi (2)  Mrs. Maniben Kara
(3) Sarojini Naidu (4) Corneha Sorabju
Options:

61547541629 1
61547541630, 2
E1547541621. 3
E1547541632. 4

Question Number : 83 Question Id : 61547510677 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  HereH e (2) =g afirsE
(3)  #AfsH A (4) e Hrrsrsh
Options:

E1547541629. 1
61547541630, 2
61547541631, 3
61547541632, 4

Question Number : 84 Question Id : 61547510678 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Which social reformer wrote, ‘Notes on infant marriage and enforced widowhood™ 1n 1884?

(1) M.G. Ranade (2) R.G. Bhandarkar
(3) Shapurjl Sorabj Bengalee (4) Behramj M. Malabar
Options:

E1547541633. 1
61547541634, 2
E1547541635. 3
E1547541636. 4

Question Number : 84 Question Id : 61547510678 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547541632 1
61547541634, 2
E1547541635. 3
E1547541636. 4

Question Number : 85 Question Id : 61547510679 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following statements about the Sikh Reform Movements 1s not true?

(1) In 1873. the Singh Sabha Movement was founded at Amritsar.
(2) The Singh Sabha opened Khalsa schools and colleges thoughout the Panjab.
(3) The Singh Sabha Movement was an off-shoot of the Akal Movement.

(4) The Akal Movement aimed to hiberate the Sikh gurudwaras from the control of
corrupt Mahants.
Options:
615475416371
615475416358 2
61547541639 2
51547541640 4

Question Number : 85 Question Id : 61547510679 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547541637, 1
61547541638 2
61547541629, 5
61547541640 4

Question Number : 86 Question Id : 61547510680 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following facts 1s not true regarding spread of Evangelicalism in India?

(1) It started a crusade against Indian barbarism and advocated the permanence of
British rule.
(2) The missionaries were located at Serampore near Calcutta.

(3) At home 1ts chief exponent was Charles Grant.

(4) The passage of the charter Act of 1833 allowed Christian missionaries to enter India

without restrictions.

Options:

61547541641, 1
61547541642 2
61547541643 =2
61547541644, 4

Question Number : 86 Question Id : 61547510680 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
15475416411

E1547541642. 2
E1547541643. 3
51547541644, 4

Question Number : 87 Question Id : 61547510681 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Sawal Jal Singh 1= known for his contribution to astronomical science. He established
observatories in Jaipur and some other important cities of India. Zij-1 Muhammad Shahi
(1732) 1s the celebrated work of Jai Singh. But the entire theoretical text 1z virtually
borrowed Verbatim from :

(1) Ain-1 Akbart @y Ziy1 Ulugh Khani
(3) Tarikh-1 Muhammad: (4 Zamima-1 Ma'athir-i Mohammad Shaht
Options:

61547541645, 1
E154754164dE. 2
E1547541647. 3
61547541648, 4

Question Number : 87 Question Id : 61547510681 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547541645. 1



E154754164E. 2
61547541647, 3
61547541648, 4

Question Number : 88 Question Id : 61547510682 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Itr made of rose water was discovered and named as itr-1 Jahangiri by Salima Sultan
Begum. She was :

(1) mother of Jahangir (2) Sister of Jahangir
(3) mother-in-law of Jahangir (4) daughter of Jahangir
Options:

61547541649 1
61547541650, 2
E1547541651. 3
E1547541652. 4

Question Number : 88 Question Id : 61547510682 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B15475416459. 1
615475416850, 2
61547541651, 3
61547541652, 4

Question Number : 89 Question Id : 61547510683 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

As per Akbar's education policy, students had option to learn Sanskrit. As per the prescribed
syllabus, students learning Sanskrit had not to learn the following subject :

(1) Vayakaran. Patanjali (2) Nyay
(3) Vedanta (4) Arabic
Options:

51547541653, 1
61547541654, 2
61547541655 3
61547541656, 4
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Correct Marks: 2 WrongMarks: 0
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Options:

61547541653, 1
61547541654, 2
E1547541655. 3
E1547541656. 4

Question Number : 90 Question Id : 61547510684 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Name the Bahamani king who following his ancestor Bahman Shah. assigned important
offices to Brahmas. He also married the princesses of neighbouring states of Vijainagar and
Kherla.

(1) Alauddin Mujahid (2) Tajuddin Firuz
(3) Dawud I (4)  Mubhammad II
Options:

61547541657, 1
61547541658, 2
E1547541659. 3
E1547541660. 4

Question Number : 90 Question Id : 61547510684 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547541657. 1
E1547541658. 2
61547541655, 3
61547541660, 4

Question Number : 91 Question Id : 61547510685 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statements are correct?

(a) The oldest script in the Indian subcontinent 1s the Harappan seript.
(b) The oldest deciphered script 1s Brahmi.
(c) It 15 easy to draw the dividing line between history and prehistory in India.

(d) Archaeologists often use the word prehistory for the long period between the
beginning of food production and the advent of iron technology.

Select correct answer from the options given below :
(1) (a), (b) and (c) only
(2) (b). (¢) and (d) only
(3)  (a). (b) and (d) only
(4) (a). (c) and (d) only
Options:
61547541661, 1
61547541662 2

E1547541663. 3
E1547541664. 4

Question Number : 91 Question Id : 61547510685 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
15475416611
1547541662 2

61547541662, 3
E1547541664. 4
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Correct Marks: 2 Wrong Marks: 0



Which of the following are correct about the Harappan Civilization?

(a) The debates about various aspects of the Harappan Civilization reflect the potential

of archaeclogy as a window into the ancient past.

(b) There are many theories about many aspects of the Harappan Civilization.

() The debates show the important role of interpretation in the discipline of
Archaeology.

(d) It 1s necessary to acknowledge the current limits of our knowledge.

Select the correct answer from the following options :

(1) (a). (b) and (c) only
(2) (b). (¢) and (d) only
(3) (c) and (d) only

(4) (a), (b). (c) and (d)

Options:

61547541665,
£1547541666.
E1547541667.
61547541668,

o IR
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Options:
£1547541665. 1
61547541666, 2
61547541667, 3
£1547541663. 4
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Correct Marks: 2 Wrong Marks: 0



Which of the following statements are correct?
(a) The materalistic aspect of Ajita Keshakambalin's doctrine connects him to the later
Charvaka school.

(b) The severe criticism of Ajvikas in Buddhist and Jain texts indicates that they were

posing a challenge to the dominant traditions.

(c) In the Anguttara Nikava it 1s declared that when a person joins the Sangha. he

becomes without Varna.
(d) A close look at the composition of the Sangha indicates that there was no presence of
upper class members in it.

Select the correct answer from the options given below :

(1)  only (b). (c) and (d)
(2)  only (a), (b) and (c)
(3)  only (a). (c) and (d)
(4) only (c) and (d)

Options:

61547541669, 1
61547541670 2
61547541671, 5
61547541672 4

Question Number : 93 Question Id : 61547510687 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547541669, 1
61547541670 2
1547541671, 2
61547541672, 4
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Which of the following are correct statements?

(a) According to Kamasutra a good wife 1z dutiful and submissive.

(b) Dharmasastra literature of the period between 300-600 CE reflect a tendency towards

increasing the age of marrmage for girls.
(c) Vatsyavana refers to princesses and other elite learned women 1n the sastras.
(d) The Narada Smriti states that a man 1s liable to pay one-third of his estate or a fine

for deserting a virtuous wife.

Select the correct answer from the options given below :

(1)  only (a) and (b)
(2) only (b) and (c)

(3) only (a). (c) and (d)
(4)  only (b), (c) and (d)

Options:

1547541673,
E1547541674,
61547541675,
61547541676,

[
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Options:

61547541673, 1
61547541674 2
61547541675 2
61547541676 4
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Correct Marks: 2 Wrong Marks: 0



Arrange the following Bahmam rulers of Gulbarga in Chronoclogical order :

(a) Alauddin Hasan
(b) Alauddin Mujahid
(c) Ismail Shah

(d) Muhammad Shah I

Select the correct options given below :

1) (b). (d). (a). (©
(2) (o). (a). (d). (b)
(3)  (a) (b). (0. (d)

(4) (d). (c). (b). (a)

Options:

1547541677, 1
61547541678, 2
61547541679 2
61547541630 4

Question Number : 95 Question Id : 61547510689 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (b). (d). (a). (c)
(2) (o). (a). (d). (b)
(3) (2 (b). (c). (d)

(4) (d). (c). (b). (a)

Options:

61547541677, 1
61547541678, 2
615475416793 2
1547541820 4

Question Number : 96 Question Id : 61547510690 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0



Which three of the following statements are correct?

(a) The Serampore Baptist missionaries practiced a brand of Christian and constructive
Orientalism. devoting themselves to the recovery of Sanskrit science and introduction
of European Science into India.

(b) By establishing a linguistic connection between Sanskrit, Greek and Latin, William
Jones privileged India with an antiquity superior to that of classical west.

(c) The beginning of the Ormentalist tradition led to the founding of institutions like the
Asiatic Society of Bengal and Sanskrit College at Benares.

(d) The fundamental principle of early Orientalist tradition was that the conguered
people were to be ruled by their own laws. as “British rule had to be legitimised 1tself
1n an Indian 1diom”.

Choose the correct options from those given below :

(1) only (a). (b) and (c)
(2)  only (a). (b) and (d)
(3) only (b). (c) and (d)
(4) only (a), (c¢) and (d)
Options:
61547541681, 1
61547541682 2

61547541883, 3
61547541654, 4
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Options:

61547541681, 1
61547541682, 2
61547541683 =
61547541634 4
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Which two of the following statements are correct?

(a)

(b)

(c)

(d)

Keshub Chandra Sen’s chief contribution lay in re-interpretation of ancient Indian

Shastras.

Keshub Chandra Sen was neither a Philosopher nor was a very systematic thinker

but was a preacher — the greatest preacher of his times.

Rabindranath Tagore felt that to foster Indianness. there was no neceszity for a revolt

against the intellectual and moral bondage of European Civilization.

Rabindranath Tagore stood in the forefront of the Prophets of Internationalism.

Select the correct options given below :

(1)
(2)
(3)
(4

Options:

only (b) and (d)
only (a) and (c)
only (c) and (d)
only (b) and (c)

61547541685, 1
61547541686, 2
E1547541687. 3
E15475416858. 4

Question Number : 97 Question Id : 61547510691 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



foerforfian O @ 1 A 3 %um wd 27
(a)  9TE &3 U4 F1 G AREA T TR ST = g # 2 |

(b)  FIEEE HA A Al U a1¥ife 9 3 vk greriia e 9, W v 39S - 99 HYY F HEH
I 9 |

(¢)  Tallez1d B A Head T T ardian 1 araan s = o gondf s & sifges s Afas 999
o eI Hifd 1 F1E ATGvTFAT 79 2 |

(d) =AY ST AAETEEAETE % S0gd 9 |

freaferfiad 4 9 |2 37 &1 F9H .

(1)  Fad (b) 3 @
(2)  ad (a) W (c)
3  FA (o) 3 (@)
@ F9d () 3 (o)

Options:

61547541685, 1
61547541686, 2
61547541687, 5
61547541688, 4
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Which of the following statements regarding ‘Shahr-e-ashob’ are correct?

(a) It 1s a nostalgic genre used by the poets in Urdu language in post-revolt of 1857.

(b) These poems offer personal account and reactions of various Mughal poets to the

period of Mughal decline in the eighteenth and nineteenth centuries.
(c) A great number of these poems were written about the city of Agra.

(d) These poems construct 1857 as a cultural trauma through the use of powerful hiterary

devices in urdu language.

Select the correct option given below :

(1) only (a). (b) and (c)
(2) only (a), (b) and (d)
(3) only (b). (c) and (d)
(4) only (a). (c) and (d)

Options:

51547541689, 1
61547541690 2
61547541691, =
61547541692 4

Question Number : 98 Question Id : 61547510692 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547541689, 1
61547541690 2
61547541691, =
1547541692 4
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Which two of the following statements are correct?

(a) The Brahmo Sama) proclaimed the infallibility of the Vedas.

(b) The Aligarh movement showed that the teachings of Islam cannot reconcile with the

needs of the modern age.

() Indian Society in the nineteenth century was caught in a vicious web created by

religious superstition and social obsecurantism.

(d) Bankim Chandra Chatterjee and Swami Vivekanand emphasized the secular use of
religion.

Select the correct options given below :

(1) only (a) and (b)
(2)  only (b) and (c)
(3) only (a) and (¢)
(4) only (c) and (d)

Options:

61547541693, 1
61547541694 2
61547541695, 5
61547541696, 4

Question Number : 99 Question Id : 61547510693 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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61547541693, 1
61547541694 2
61547541695, 5
61547541696, 4

Question Number : 100 Question Id : 61547510694 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which two of the following statements regarding Muhammad Igbal are correct?

(a)

(b)

(c)

(d)

Igbal scolded the new generation of Mushms who were mnspired by European political

thought but 1ignorant of European history.

For Igbal. religion was not a power of utmost importance in the hife of indivaiduals as

well as of States.

EKept out of the All-India Muslim league, Igbal rallied behind Indian National
Congress.

Igbal was resentful of efforts by M.A. Jinnah and other pro-Congress Mushms to deny

Punjab their democratic voice 1n the All-India Mushm League.

Select the correct options given below :

(1)
(2)
(3)
(4)

Options:

only (a) and (c)
only (b) and (d)
only (c) and (d)
only (a) and (d)

615475416397, 1
E15475416%358. 2
E1547541639%5. 3
61547541700, 4

Question Number : 100 Question Id : 61547510694 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) =9 (a) 3 (o)

(2)  Fad (b) 3 (d)

(3) A (¢) 3 (d)

(4)  Fad (a) 3N (d)

Options:

61547541697, 1
615475416898 2
61547541699, 5
61547541700, 4

Question Number : 101 Question Id : 61547510695 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which two of the following statements are correct?

(a) To Rabindranath Tagore. England not only had a mission in India: but India herself
had a supreme spiritual message for England and Europe.

(b) Rabindranath Tagore stands in the forefront of the Prophets of Bengali nationalism.

(c) Rabindranath Tagore fully supported Mahatma Gandhi's Non-cooperation movement.

(d) To fulfil the moral end of Modern Indian history and evolution. Rabindranath Tagore
felt that the spell which the European illumination had cast over educated India
should be broken.

Select the correct answers from the options given below :

(1) (a) and (d)
(2) (b) and (c)
(3) (a) and (b)
(4) () and (d)

Options:

61547541701, 1
61547541702, 2
61547541702, 5
61547541704, 4

Question Number : 101 Question Id : 61547510695 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
61547541701, 1
61547541702, 2
61547541703, 3
1547541704, 4

Question Number : 102 Question Id : 61547510696 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statements are correct?

(a) Chaitanyva immtiated a cult of Krishna and Radha. in which the devotee pictured
himself as a companion of Krishna at Vrindaban.

(b) Chaitanya had his followers mainly in Bengal.

(c) His successors. the Goswamis, at Vrindaban gave a philosophical basis to the cult and

outlined itz rituals.

(d) To his followers Chaitanya himself appeared as a joint incarnation of Krishna and
Radha.

Select the correct answer from the options given below :

(1) (a) and (b) only

(2) (a). (b). (c). (d)
(3) (a). (e) and (d) only
(4) (b) and (d) only

Options:

61547541705, 1
E1547541706. 2
61547541707, 5
61547541708, 4

Question Number : 102 Question Id : 61547510696 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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2)  (a) (®). () 3 ()
(3)  #4d (a), (e) ¥ (d)

(4)  FEA (b) 3 (d)

Options:

61547541705, 1
61547541706, 2
61547541707, 2
61547541708, 4

Question Number : 103 Question Id : 61547510697 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Arrange the following bhakti saints in chronological order :

(a) Kabir
(b) Ramdas
(c) Namdev
(d) Dadu

Select the correct option from below :

(1) (o). (a). (d). (b) (2) (a), (d). (c). (b)
(3) (a). (b). (c). (d) (4)  (c), (b), (a). (d)
Options:

E1547541703. 1
51547541710, 2
61547541711, 3
61547541712 4



Question Number : 103 Question Id : 61547510697 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frefetfiaa ufad =i &1 FrerswaEE v’

(a)  HER
(b)  THEH
(¢) M4
d 35

(1)  (c). (a). (d). (b) (2) (a). (d), (c). (b)
(3) (a). (b). (c). (d) (4)  (c). (b), (a). (d)
Options:

61547541709, 1
61547541710, 2
E1547541711. 3
61547541712 4

Question Number : 104 Question Id : 61547510698 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following statements are correct?

(a) The temple of Govind-dev at Vrindaban was built in 1590.

(b) It was built by Mota Raja Udai Singh of Marwar.

(c) It has a very little influence of Mughal style of architecture.

(d) Its main hall 1s in the form of a cross with galleries, set above, curiously like a church.

Select the correct option given below :

(1) (a), (b) and (d) only (2) (a)and (d) only
(3) (b) and (c) only (4) (b), (c) and (d) only
Options:

515475417131
61547541714, 2
61547541715 3
61547541716, 4

Question Number : 104 Question Id : 61547510698 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  %ad (a). (b) 31 (d) (2) Fa (a) 31 (d)
(3)  #de (b) 3 (¢) (4)  *aA (b). (c) N (@)
Options:

615475417121
E1547541714. 2
E1547541715 3
61547541716, 4

Question Number : 105 Question Id : 61547510699 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

From among the following statements regarding the Marxist school of Indian historiography.
which statements are correct?

(a) The foundation of this school of historical writing was laid by R. Palme Dutt and
A R. Desail. but several others have contributed in later vears.

(b) They take full cognizance of the process of India becoming a nation., and see the
national movement as a movement of the people.

(c) Their major emphasis was to show inner contradictions of Indian Society in terms of
caste.
(d) They tend to see the national movement as a structured bourgecis movement,

supported by the Capitalist class.

Choose the correct option :

(1)  only (a). (b) and (d)
(2)  only (b). (c) and (d)
(3) only (a), (b) and (c)
(4)  only (a). (c) and (d)

Options:
615475417171

E15475417158. 2
E1547541713. 2



B1547541720. 4

Question Number : 105 Question Id : 61547510699 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547541717,
61547541718,
£1547541719.
61547541720,

o IR

Question Number : 106 Question Id : 61547510700 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statements are correct about the Vaishnava Pantheon?

(a) The worship of gods and goddesses was absorbed 1nto the Vailsnava pantheon.
(b) The worship of avataras of Vishnu became inereasingly popular.
(c) The assimilative potential of the avatara doctrine 1s indicated by the incorporation of

Buddha in the list of some Puranas.

(d) It 1s a homogenous tradition.

Choose the correct answer from the options given below :

(1)  (a). (b), (c) and (d)
(2)  only (a). (b) and (c)
(3) only (a) and (b)
(4)  only (b) and (c)

Options:

61547541721, 1
61547541722 2
61547541723 2
61547541724 4

Question Number : 106 Question Id : 61547510700 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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L (). (b). (© FR (A
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(3)  Fad (a) 31 (b)

(4)  Fad (b) 3 (c)

Options:

£1547541721. 1
61547541722 2
61547541722, 5
61547541724 4

Question Number : 107 Question Id : 61547510701 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following statements about Bhartendu Harishchandra 1s/are not true?

(a) He 1s referred to as ‘Father of modern Hindi hiterature’.
(b) The Hindi drama owes 1ts beginming to him.
(c) He wrote the first omginal drama Nahusa Nataka.

(d) In his plays. he brought about harmony between the ‘rasa’ of Sanskrit drama and
conflict of Western plays.

Select the correct answer from the options given below :

(1) (a) and (b) only
(2) (c) only
(3) (c) and (d) only

(4)  (a). (b) and (d) only

Options:

61547541725, 1
61547541726 2
61547541727, 2
61547541728 4

Question Number : 107 Question Id : 61547510701 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547541725 1
61547541726 2
61547541727, 2
E1547541728. 4

Question Number : 108 Question Id : 61547510702 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following pairs of the sufis/silsilahs 1s not correctly matched?

Sufi Silsilah
(1) Shaikh Sharfuddin Yahyva Maner ; Firdausa
(2) Shaikh Qutbuddin Bakhtiyvar Kalk . Qadr
(3) Shaikh Bahauddin Zakaria = Suhrawardi
(4) Ehwaja Baqi Billah - Nagshbanda

Options:
£1547541729. 1

E1547541730. 2
E1547541731. 3
61547541732, 4



Question Number : 108 Question Id : 61547510702 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

£1547541729. 1
61547541720, 2
61547541721, 5
61547541732 4

Question Number : 109 Question Id : 61547510703 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In Sultan Firuz Shah Tughlag’'s hunting campailgns, artisans were allowed to accompany
after 1ssuing permit. A permit was issued by the rais-i shahr (city officer) on pavment of a
bribe. The bribe was known as :

(1) rishwat
(2) khidmatt
(3) naukri

(4) Haqqg-I biradari

Options:

61547541733 1
E1547541734 2
61547541735, 5
61547541736 4

Question Number : 109 Question Id : 61547510703 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547541733 1
E1547541734. 2
E1547541735. 3
51547541736, 4

Question Number : 110 Question Id : 61547510704 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In the market control policy, Sultan Alauddin Khalj had fixed the price of every commodity.
The price of a female slave for domestic work was fixed between :

(1) 20 and 40 tankas
(2) 15 and 25 tankas
(3) b and 12 tankas

(4) 20 and 30 tankas

Options:

61547541737, 1
61547541738 2
615475417329 2
61547541740, 4

Question Number : 110 Question Id : 61547510704 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
£1547541737. 1

E1547541738. 2
E1547541739. 3
51547541740, 4

Question Number : 111 Question Id : 61547510705 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The contribution of non-vedic thought to the evolution of the concepts of the Upanishads
remains hypothetical because :

(1) They stemmed from the Rig Veda and the Brahmanas.
(2) They represent a watershed between the Vedic Corpus and the new ideologies.
(3) There are no texts or well articulated tradifions of such (non-vedic) thought.

(4) The nature of the change was a shaft from the acceptance of the Vedas as revealed
and as controlled by rituals to the possibility that knowledge could dermve from
intuition. observation and analysis.

Options:

615475417411
61547541742 2
£1547541742 2
1547541744 4

Question Number : 111 Question Id : 61547510705 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547541741, 1
61547541742 2
61547541742 5
61547541744 4

Question Number : 112 Question Id : 61547510706 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following statements about the Sanauli site are borne out by the archaeological
findings?

(a) It 1s tentatively dated C. 2200-1800 BCE.
(b) So far around 116 graves have been exacavated from different depths.
(c) All the burials are extended burials.

(d) Two burials — one double and another triple have also been found.

Select the correct answers from the given options :

(1) (a) and (c) only (2) (b). (c) and (d) only
(3) (a). (b) and (d) only (4) (a). (b). (c). (d)
Options:

E1547541745. 1
61547541746, 2
61547541747, 3
615475417458, 4

Question Number : 112 Question Id : 61547510706 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547541745,
£1547541746.
61547541747,
61547541748,

o LIRS

Question Number : 113 Question Id : 61547510707 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The concept Longue duree denotes that :

(1) There 1s no history/culture of a region but the history of civihization.
(2) There 1s no history of cavilization. but the history of the world.

(3) The history/culture should be studied 1n long periods.

(4) The past should be studied 1n the light of the present.

Options:
£1547541749,

E1547541750,
E1547541751.
51547541752,

[ N

Question Number : 113 Question Id : 61547510707 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0
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Options:

61547541749, 1
61547541750 2
61547541751, 2
61547541752 4

Question Number : 114 Question Id : 61547510708 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

After the coming of Europeans to India, many Indians in addition to English language
learned other European languages. and were called dubashis. From the following, point out

which European languages they learned?

(a) Portuguese
(b) Dutch

(c) French

(d) Spanish

Select the correct options from below :

(1) (a) and (b) only
(2) (a) and (c) only
(3) (a), (b) and (c) only

(4) (a). (b). (). (d)
Options:
61547541753 1
E1547541754. 2
E1547541755 3
61547541756 4

Question Number : 114 Question Id : 61547510708 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(4) (a). (b). (c). (d)

Options:

61547541753, 1
61547541754 2
61547541755 2
61547541756 4

Question Number : 115 Question Id : 61547510709 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List - I with List - IT

List-1 List - II
(Monuments) (Place where situated)
(a) Arahi din ka Jhompra (1) Jaunpur
(b) Sultan Garh (1) Hyderabad
(c) Atala Mosque (m) Delln
(d) Char Minar (1iv) Ajmer

Choose the correct options given below :

(1) (a)-(v). (b)-(111). (c)-(1), (d)-(11)
(2)  (a)-(m). (b)-(v). (e)-(12). (d)-(1)
(3) (a)-(11), (b)-(1). (¢)-(111), (d)-(1v)
4 (a)-Q). (b)-(1). (c)-(11), (d)-(v)

Options:

61547541757, 1
61547541758 2
£1547541759. 2
61547541760, 4

Question Number : 115 Question Id : 61547510709 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3 (-0, (b)-O). (¢)-(11). (d)-(v)
(4) (a)-(@). (b)-(1), (e)-(111), (d)-(1v)

Options:

61547541757,
61547541758,
£1547541759.
61547541760,

o I P

Question Number : 116 Question Id : 61547510710 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Matech List - I wath List - IT

List-1 List - I
(Terms) (Meaning)
(a) Bargah (1) an offictal who supervises public
morals
(b) Sadr (1) a decree
() Muhtasib (111) court
(d) Mahzar (iv) chief theologian

Choose the correct options from those given below :

(1)  (2-w). (b)-(1v). (¢)-(). (d)-(11)
(2) (a)-(11). (b)-(11). (c)-(1v), (d)-(1)
(3)  (@-i). (b)-1),. (e)-(i1), (d)-Gv)
(4 (a)-(1). (b)-Gi), (c)-(), (d)-(v)

Options:

61547541761, 1
61547541762 2
1547541762 2
61547541764, 4

Question Number : 116 Question Id : 61547510710 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gt 16 eht 114 gifera ifero -

-1 11
(¥1=2) (wef)
(a) @TOME (1) HESAEF Afdhdl F TG i Jrel U
stferrrl
(b) &g (i) U FE
(c) Yearts (i) =&
(d) #EH (iv) g ST
1=t feu o foaereg 4 4 w4 30 g0 -

(1) (a)-Gu), (b)-v). ()-(). (d)-1)
(2 (a)-au), (b)-), (e)-(v), (d)-@)
(3)  (a)-u). (b)-Q). (¢)-(). (d)-(v)
@) (2-Gi). (b)-1). (e)-@). (d)-1v)

Options:

61547541761, 1
61547541762 2
61547541763 2
61547541764 4

Question Number : 117 Question Id : 61547510711 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List - I wath List — II

List - I List - II
(Authors) (Works)
(a) Kapila Vatsayan (1) Towards a National Theatre
(b) Shashi Tharoor () Traditional Indian Theatre : Multiple
Streams
(c) Kiranmoy Raha (1) The Great Indian Nouvel
(d) Kamaladevi Chattopadhvay (tv) Bengali Theatre

Choose the correct options from those given below :

(1 (a)-(111). (b)-(1). (e)-(11), (d)-(1v)
(2) (a)-(1v). (b)-(11). (c)-(1), (d)-(12)
(3) (a)-(1). (b)-(111), (c)-(11), (d)-(1v)
(4) (a)-(11), (b)-(111), (c)-(1v), (d)-(1)

Options:

61547541765, 1

61547541766, 2

61547541767, 3
E15475417EE. 4

Question Number : 117 Question Id : 61547510711 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



et Lo gt 11 |1 gufor = -

-1 HI-11
(TEHTFR) (T=471)
(a) T ATeEITA () 2999 UAyHd ozt
(b) 99 o (i) 2fEvMe s fouet - woeiver &
(c) Tarrorgm T (ill) & U2 3feF T
(d) FHATEH] TR (iv) e ot

4 fou o e 9 o 3o g

(1) (a)-(111). (b)-(1). (c)-(11), (d)-(1v)
(2) (a)-(1v). (b)-(111). ()-(). (d)-(11)
(3) (a)-(1). (b)-(111). (c)-(11). (d)-(1v)
(4) (a)-(11). (b)-(111). (e)-(1v). (d)-(1)

Options:

61547541765 1
61547541766, 2
61547541767, 2
61547541768, 4

Question Number : 118 Question 1d : 61547510712 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match List - I with List — I1

(a)

(b)
(c)

(d)

List -1 List - IT
(Authors) (Works)
Anandyo Roy (1)  English writing and India — 1600-
1920
Debjam Ganguli () After Colonialism
Gvan Prakash (m) Islands in History : Literature and
Culture in British India
Pramod K. Nair (iv) Caste, Colonialism and Counter —
Modernity

Choose the correct option from those given below :

(1)
(2)
(3)
(4)

Options:

(a)-(u1). (b)-(iv). (¢)-(11), (d)-(1)
(a)-(). (b)-(1). (¢)-(111), (d)-(1v)
(a)-(11). (b)-(2). (c)-(1v). (d)-(11)
(a)-(wv), (b)-(111). (€)-(2), (d)-(11)

E154754176%9. 1
61547541770, 2
61547541771, 3
61547541772 4

Question Number : 118 Question 1d : 61547510712 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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eI
(rer)

(a) HH=I 14

(b) St e

(c) 3 Wl

(d) HRE &, T
A= faw o faepe 4 4 wdi 3w 9o
(1) (a)-Gid). (b)-(v). (e)-(id), (d)-D)
(2 (@-(). ®)-1). ()-(i1). (d)-(0v)
(3)  (a)-(id), (b)-(). ()-(iv), (d)-(ii)
(4 (a)-(v). (b)-(1d). (e)-(1). (d)-(iD)

Options:

515475417659 1
61547541770, 2
61547541771, 3
E1547541772. 4

(1)
(11)

(111)

(iv)

E1-11
(%)
§fersn Tl uve §feam - 1600-1920
AP F AT AT
AEsE 34 B - ot we wem
farfes gfean

Question Number : 119 Question Id : 61547510713 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following pairs of author and work 1s not correctly matched?

List -1 List - IT
(Author) (Book)
(1) Abdul Qadir Badaom — Muntakhab-ut Tawaritkh
(2) Nizamuddin Ahmed — Tabagat-1 Akbart
(3) Abdul Hamid Lahor — Shahjahan Nama
(4) Yusuf Mirak - Mazhar-1 Shahjahanm

Options:

615475417731
61547541774 2
E1547541775 2
61547541776, 4

Question Number : 119 Question Id : 61547510713 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ol 3R P =1 FHefefiad 4 3 - gm gufod 72 27

() (g%=h)
(1)  ¥Hsgel et s - -3 dARE
@) FsmIgde sEms - AHA - STFaA]
(3) 3Fsgel B Sl = STETET AT
(4)  gH% Y — HSel-U STEsal

Options:

61547541773, 1
61547541774 2
61547541775 2
61547541776, 4

Question Number : 120 Question 1d : 61547510714 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List - I with List - II

List-1 List - II

(a) The inscriptions, layout and the area (1) Sitabenga
around it suggest that it may have
been an ancient theatre.

(b) They naturally tend to exaggerate the (1) Prashastis
achievements of the rulers.

(c) The inscription of the time records the (1) Rajaraja III
resistance of the peasants against the
oppressive taxation and  other
exactions.

(d) It prowvides information on musical (1v) Kudumivamalai
notes in several classical ragas

Choose the correct option from the options given below :

(1) (a)-(1). (b)-(11). (c)-(111), (d)-(1v)
@) (a)-(). b)-Gi). (©)-(v). (d)-(iii)
(3) (a)-(v). (b)-(11). (¢)-(1). (d)-(111)
@) (a)-(ii), (b)-@). (Q)-@). (d)-(iv)

Options:

61547541777,
61547541778,
61547541779,
61547541780,

[ N

Question Number : 120 Question 1d : 61547510714 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(¢) 39 e = eArei@l § 310 FHE a9 #= (id) e I
SqFTF o faeg TraHl & faaa #1 Iecm
foetan 2 |

(d) zad sHe sl g wifa i o e () Fefiaeers
frrerdi 2 |

13 w1 foraren & el e g fi

(1) (@-Q). ®)-. (e)-(u). (d)-(v)
(2)  (@-0). (b)-(D). (c)-(iv). (d)-(11D)
(3 (a)-(v). (b)-(). (c)-(1). (d)-(11)
(4 (a2)-(). (b)-(). (e)-@). (d)-(v)

Options:
E1547541777.

E1547541778.
B1547541773.
51547541780,

[ R

Question Number : 121 Question Id : 61547510715 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Mateh List - I wath List - IT

List-1 List - II

(a) A comprehensive text for theatrical (1) Kavyadarsha
performances written by Bharat
Muni.

(b) It 1s one of the dramas wnritten by (u) Nafvasastra
Kahdasa.

(¢) It deals primarily with poetics. (m) Abhiyja nanashakuntala

(d) It 1z an influential text on Indian (1v) Brahmasputasiddhanta
astronomy.

Choose the correct answer from the options given below :

(1)  (a)-Gi). (b)-@id). (e)-(), (d)-Gv)
(2)  @-(). (b)-(), (c)-(mm), (d)-(v)
(3)  (a)-(m). (b)-(v). (c)-(11). (d)-(2)
(4)  (a)-av). (b)-(). (¢)-(i1). (d)-(11)

Options:

61547541781, 1
61547541782 2
61547541733 2
E1547541734. 4

Question Number : 121 Question Id : 61547510715 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) 97 GiH gRI-Tfed e wefadi deifia v (@) @yl
fepea e |
(b) TEFNATHEZWIFAAMCH U UFAF S| (1) AT
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(1) (a)-(1). (b)-(11). (¢)-@). (d)-(iv)
2) (@)-Q). (b)-(1). (¢)-(1), (d)-(iv)
(3)  (a)-(11), (b)-(iv), (¢)-(11), (d)-(1)
4)  (a)-(v). (b)-(A). (c)-(ii), (d)-(i1)

Options:
61547541751,

E1547541782.
E1547541783.
61547541754,

[ R

Question Number : 122 Question Id : 61547510716 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List - I with List - II

List -1 List - II
(a) Vedas (1) Smrita
(b) Vedangas. Puranas. Epics, (1) Shruti

Dharmashastras and Nitishastras
(c) Brahmanas (1) Interpretation of sacrificial rituals

(d) Aranyvakas (1v) Prose explanation of Vedic Samhitas

Choose the correct options given below :

(D) (-, (b)-(). (e)-(11), (d)-(v)
(2)  (a2)-(w). (b)-(v). (c)-(1). (d)-(11)
(3)  (a)-(). (b)-(D). (¢)-(11), (d)-(iv)
4 (a)-). (b)-Q). (c)-(v). (d)-(111)

Options:

61547541785, 1
61547541786 2
61547541787, 2
615475417388 4

Question Number : 122 Question Id : 61547510716 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  (a)-(). (b)-A). (c)-(u). (d)-av)
(2)  (a)-(u). (b)-(v). (c)-(2), (d)-(1)
(3)  (a)-@). (b)-(11). (¢)-(111). (d)-(1v)
(4)  (a)-). (b)-Q). (¢)-(av). (d)-(111)

Options:

61547541785,
61547541786,
E1547541787.
61547541788,

o I P

Question Number : 123 Question Id : 61547510717 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List - I with List - I1

(a)

(b)

(c)

(d)

List-1I
Raymond Allchin and F.E. Zeuner

Robert Sewell

Robert Bruce Foote

T.J. Newbold

(1)

(11)

(111)

(1v)

List - II

Carried out the first excavation of an
ash mound life.

the first to connect the ash mounds
with the Neolithic culture.

argued that not all the ash mounds
represent cattle mounds.

supported Foote's conclusion.

Choose the correct answers from the options given below :

(1
(2)
(3)
(4)

Options:

(a)-(iid). (b)-(i1). (¢)-(1). (d)-(1v)
(a)-(w). (b)-(1). (e)-(11). (d)-(111)
(a)-(11). (b)-(111). (¢)-(1), (d)-(iv)
(a)-(1v). (b)-(m1). (e)-(11), (d)-(1)

61547541789, 1
61547541730, 2
E1547541731. 3
B15475417392. 4

Question Number : 123 Question Id : 61547510717 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(c) ¥iald g4 e (i) aF fem T |l w7 & e oy Fel =
uidfiees 92 |

d) @9, e (iv) E2 = ferul = wueds faan)

freifera 4 & =l faere o1 =24 #:

(D) (@-(1). (b)-(w). (©)-{1). (d)-(v)
(2)  (@)-). (b)-(2). (e)-(11). (d)-(111)
(3)  (a)-). (b)-(u). (¢)-1). (d)-(v)
(4 (a)-v). (b)-(11), (e)-(1). (d)-Q)

Options:

61547541789, 1
61547541730 2
61547541731, =
615475417392 4

Question Number : 124 Question Id : 61547510718 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List - I wath List - IT

List -1 List - II
(a) Hegel (1)  Mode of Production
(b) Karl Marx (1) Hegemony
(¢) Gramscl (111) Annale’s School
(d) Marc Bloc (iv) Dialectics

Choose the correct answer from the options given below :

(1) (a)-(1). (b)-(11), (c)-(111), (d)-(iv)
(2 (@)-v). (b)-(). (c)-(11). (d)-(iii)
(3)  (a)-Gi). (b)-(11). (c)-(av), (d)-(1)
(4)  (a)-(1). (b)-(11), (c)-(1), (d)-(v)

Options:

61547541793 1
£1547541794 2
61547541735, 5
61547541796, 4

Question Number : 124 Question Id : 61547510718 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1) (@-). b)-1). (¢)-(m). (d)-(1v)
(2) (a)-(1v), (b)-(1). (e)-(11). (d)-(111)
(3) (a)-(111), (b)-(11), (e)-(1v), (d)-(1)
(4) (a)-(1). (b)-(111), (€)-(2). (d)-(iv)
Options:
61547541793,
61547541794,

51547541735,
61547541736,

b LI P

Question Number : 125 Question 1d : 61547510719 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Arrange the following sources in sequence :

(a) Muihta Nainst ri Khyat
(b) Dalpat Vilas

(c) Nuskha-1 Dilkusha

(d) Maasir-ul Umara

Select the correct options given below :

(1) (b (a). (). (d) (2) (a), (b).(c).(d)
(3)  (d). (c). (a). (b) 4)  (b). (c). (a). (d)
Options:

615475417571
61547541738, 2
61547541739, 3
61547541800, 4



Question Number : 125 Question Id : 61547510719 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

fTeRd =il =1 shuan Heaafead =+ .

(@)  Hear v 1 &rd

(b)  EoAYd facTd

€  JEa-u G

(d)  FHMA-3A ¥T

4 3wl fasen & 9a

(1) (b), (a). (c). (d) (2) (a). (b). (c). (d)
(3) (d). (c). (a). (b) (4) (b). (c), (a). (d)
Options:

61547541737, 1
615475417358, 2
61547541739, 3
E1547541800. 4

Question Number : 126 Question Id : 61547510720 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following statements about Syed Ahmed Khan are true?

(a) He was born in 1817.

(b) He worked for the social and educational advaneement of Indian Muslims throughout
his hife.

(c) One of his masterly work 1s ‘Commentaries on the Quran’.

(d) He died 1n 1900.

Choose the correct option from those given below :

(1) only (a) and (b) (2) only (b) and (c)
(3) only (c) and (d) (4) only (a). (b) and (c)
Options:

E1547541801. 1
E1547541802. 2
61547541803, 3
61547541804, 4

Question Number : 126 Question 1d : 61547510720 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) 31N 1817 H g1 o1 |

b)  Fear sfan v wwda geer & et i Sefirs farm & oo wef fen)
(€)  ‘FUAS HA FH FAFI U IeFL FHd 2 |

(d) 3194 1900 € g1

feiiere | 3 H2 T 01 =20

(1) @A (a) 37 (b) (2) Fde (b) 3T (¢)
3) A (o) 3 (d) (4) & (a). (b) 371 (c)

Options:

61547541301,
E1547541202.
61547541803,
61547541804,

[

Question Number : 127 Question Id : 61547510721 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Arrange the states/chiefdoms situated from North India to South India :

(a) Dogra State

(b) Mysore State

(c) Kota State

(d) Baghela Chiefdom

Select the correct option given below :

(1)  (a). (c). (b). (d) (2) (). (d), (o). (b)
(3) (b). (c). (d). (a) (4) (o). (a). (b). (d)
Options:

51547541805, 1
61547541806, 2
61547541807, 3
E1547541808. 4

Question Number : 127 Question Id : 61547510721 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a). (c). (b). (d) (2) (a). (d). (c), (b)
(3) (b). (c). (d). (a) (4)  (c). (a). (b). (d)
Options:

E1547541805. 1
51547541806, 2
61547541807, 3
61547541808, 4

Question Number : 128 Question 1d : 61547510722 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Arrange the following sources in sequence :

(a) Badaoni's Muntakhab-ut Tawarikh
(b) Barani's Tarikh - 1 Firuzshahi

(c) Lahor’s Padshahnama

(d) Minhaj Swray’s Tabaqat-1 Nasiri

Select the correct option given below :

(1)  (a). (d). (c). (b) (2) (). (o). (). (@)
(3) (o). (a). (b). (d) (4) (d). ®). (@) (©
Options:

E1547541809. 1
61547541810, 2
61547541811, =
61547541812, 4

Question Number : 128 Question Id : 61547510722 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



{1 Hidi =1 Fuan Hegafed i .

(@) SR %A YaEa-3d danie
(b) % Fd aRRE-T e sTEl

(c)  ©IEHI &d JrasmaTH

(d) Toers s #5a q@sma-u g

e 1 | wél [asea o1 = 6

(1)  (a). (d). (c). (b) (2) (). (0. (d). (a)
(3) (c). (a). (b). (d) (4) (d). (b). (a), (c)
Options:

615475415809, 1
E1547541810. 2
E1547541811. 2
61547541812, 4

Question Number : 129 Question Id : 61547510723 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Arrange the following Shargl rulers of Jaunpur kingdom 1n chronological order :

(a) Ibrahim Shah Sharqi
(b) Mahmud Shah Sharq:
(c) Malik Sarwar

(d) Mubarak Shah Sharqi

Select the correct option given below :

(1) (c). (a). (d). (b) (2) (). (). (b), (a)
(3) (c). (d). (a). (b) (4) (c). (b). (d). (a)
Options:

E1547541813. 1
E1547541814. 2
61547541815, 3
61547541816, 4

Question Number : 129 Question 1d : 61547510723 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(b)  WEHE IR IRl
(¢)  HicTs BT

(d) g SE v
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(1) (c). (a). (d). (b) (2)  (d). (c). (b). (a)
(3) (c). (d). (a). (b) (4) (o). (b). (d). (a)

Options:

61547541813,
61547541514,
615475415815,
1547541816,

[ N

Question Number : 130 Question Id : 61547510724 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Chronologically arrange the following legislations regarding women :

(a) The Brahmo Marriage Act

(b) Hindu Women's Right to Property Act
(c) The Widow Remarriage Act

(d) The Age of Consent Act

Select the correct option given below :

(1) (c). (a). (d). (b) (2) (a), (b). (c). (d)
(3) (d). (a). (b), (c) (4) (c). (d). (a). (b)
Options:

61547541817, 1
E154754181%58. 2
E15475418143. 3
51547541820, 4

Question Number : 130 Question Id : 61547510724 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



uizet 11 | gaiaa eiied A1 %1 FTerswaTTan Heaaiead i
(a)  WTEHl faaE uEe
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(d)  =eufd Fl =g vae

e | | | fases 94

(1) (c). (a). (d). (b) (2) (a). (b). (c). (d)
(3) (d). (a). (b). (c) (4) (c). (d). (a). (b)
Options:

61547541817, 1
E154754181%58. 2
E15475418143. 3
51547541820, 4

Question Number : 131 Question Id : 61547510725 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Chronologically arrange the following provincial legislatures that extended franchise to
women :

(a) Bombay and Madras
(b) Assam, Bihar and Orissa
(c) Punjab and Bengal

(d) United Provinces
Select the correct answer from the options given below :

(1) (b). (a). (d). (c) (2) (a). (d). (b). (c)
(3) (d). (b). (a). (c) (4) (a). (d). (c). (b)
Options:

£1547541821.
£1547541822.
1547541823,
615475415824,

o IR

Question Number : 131 Question Id : 61547510725 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) i 3R gEm

(b) Aoy, faen = 3
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(d) =Y U
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(1) (b). (a). (d). (c) (2) (a), (d), (b). (v)
(3)  (d). (b). (a). (c) (4) (a), (d). (c). (b)
Options:

61547541821, 1
E1547541822. 2
E1547541823. 3
B1547541824. 4

Question Number : 132 Question Id : 61547510726 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Consider the following types of colns :

(a) Inscribed die-struck coins
(b) Uninscribed die-struck coins
(c) Punchmarked coins

(d) Uninsecribed cast coins

Which of the following 1s the correct chronelogical sequenee of these coins?
Select from the correct options given below :

(1) (c). (d). (b). (a) (2) (d). (b), (c). (a)
(3) (b). (d). (a). (c) (4) (c). (a). (b). (d)
Options:

E1547541825. 1
E1547541826. 2
61547541827, 3
615475418258, 4

Question Number : 132 Question 1d : 61547510726 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(¢  #ATed (T=-ame) faak
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(1) (). (d). (b). (a) (2) (d). (b, (o). (a)
(3) (b). (d). (a). (c) (4 (c). (a). (b). (d)

Options:

61547541825,
£1547541526.
E1547541827.
61547541828,

o IR

Question Number : 133 Question Id : 61547510727 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements. one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A): Vedas are collection of hymns written in Sanskrit language. The oldest of
these texts 1s Rigveda and the last the Atharva veda.

Reason (R) : A major problem 1n using the Vedas as a source of history 1s the problem of

their dating.

In the context of the above two statements which of the following 1s correct?

(1) Both (A) and (R) are true, and (R) 1s the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) 1s not the correct explanation of (A).
(3) (A) 1s true. but (R) 1s false
(4) (A) 1s false, but (R) 1s true
Options:
1547541529 1
61547541520 2

£1547541831. 3
E15475418532. 4

Question Number : 133 Question Id : 61547510727 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

- 1969 fqu e 2, vk 1 sAfirres (A) SR g Fded ((R) F# TR |

HTgFIA (A) : 9% ¥l (hymns) #1690z 2 S ok gera arn § fod 7 2 | r=iey J5-aeEE 2 e

sAfqudz wyd 922

a4 (R) : J21 = s Ufderi €T o w9 0w s H ged quen 3966w safa 6 e 2 |
Iy ST el % aiteE d FEifra d awa o 2

(1)  (A) 3R (R) 21 #3 & 31 (R), (A) F1 a4 =amen 2 |

(2)  (A) 3R (R) a1 ¥ 2; T R). (A) 1w e 34 2|
(3) (A T2, T R) w1 2

@ (A HIFE R, T ®)HE 2

Options:

61547541829, 1
61547541830 2
61547541831, 2
61547541832 4

Question Number : 134 Question Id : 61547510728 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements. one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A):  Education mediated by English rulers rekindled traditional Indian values

into the soul of educated Indians.

Reason (R) : The use of English for Indian education was an i1deological campaign that
assigned the task of committing the colonized to the notion of colonialism

as a historically necessary and beneficial development.

In the context of the above statements, which of the following 1s correct?

(1) Both (A) and (R) are true. and (R) 1s the correct explanation of (A).
(2) Both (A) and (R) are true. but (R) 1s not the correct explanation of (A).
(3) (A) 18 true, but (R) 1s false

(4) (A) 1= false, but (R) 1= true

Options:

61547541833, 1
61547541834 2
61547541835 =2
1547541836 4

Question Number : 134 Question Id : 61547510728 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547541533 1

E1547541824. 2
51547541835 3
61547541836, 4

Question Number : 135 Question Id : 61547510729 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Given below are two statements. one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A):  Education mediated by English rulers rekindled traditional Indian values

into the soul of educated Indians.

Reason (R) : The use of English for Indian education was an i1deological campaign that
assigned the task of committing the colonized to the notion of colonialism

as a historically necessary and beneficial development.

In the context of the above statements, which of the following 1s correct?

(1) Both (A) and (R) are true. and (R) 1s the correct explanation of (A).
(2) Both (A) and (R) are true. but (R) 1s not the correct explanation of (A).
(3) (A) 18 true, but (R) 1s false

(4) (A) 1= false, but (R) 1= true

Options:

61547541837, 1
61547541838, 2
1547541829 2
E1547541840. 4

Question Number : 135 Question Id : 61547510729 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



91 S feum 8, ueh w1 sAfigsred (A) 3T EH F1 85 (R) Fe1 T2 |

AfHIA (A): S VWA % Siid SR au ST % Sead o @ o fer faenfaan 6 awgsi 6
a1 o o T fAida s o TuiEe S 8 gar g |

@ (R) : SITE] ST U 374 Yo o fafore freasn faged e s 9 qe1 w23 Fiim of sum
Fuerd el o uilen § Freifea 9 5wk w2

(1)  (A) 3R (R) 5HI 61 2 311 (R), (A) 1 @l =3ren 2 |
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@ (AR, frg @ ud 2

Options:

61547541837,
1547541838,
615475415839,
51547541840,

o LIPS

Question Number : 136 Question Id : 61547510730 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The following are two statements. one labelled as Assertion (A) and the other labelled as
Reaszon (R) :

Assertion (A): The Bhakti cult was also a factor in breaking the barrier between the

natives and outsiders/immigrants.

Reason (R) : According to Bhagavata Purana. propitiating Vishnu and his devotees 1s

enough for the purification of the Kiratas. Hunas, Andharas. Yavanas etc.

In the context of the above two statements which of the following 1s correct?

(1) Both (A) and (R) are true. and (R) 1s the correct explanation of (A).
(2) Both (A) and (R) are true. but (R) 1s not the correct explanation of (A).
(3) (A) 1= true, but (R) 1s false

(4) (A) 1s false, but (R) 1s true

Options:

615475415411
61547541842, 2
61547541842 5
61547541844 4

Question Number : 136 Question Id : 61547510730 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(3) (A HEAZ, g R)HEFE 2 |

(4) (A 9 FE 2, Trg R) 98 2

Options:

61547541541,
61547541342,
£1547541343.
£1547541344,

[ Y

Question Number : 137 Question Id : 61547510731 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : While there are numerous references to the Ramavana and 1its author
Valmiki in the Mahabharta. there 1s not a single reference to the Bharata
war or the heroes of Mahabharatain the Ramayvana.

Reason (R) : It shows that the Ramayana 1n 1ts present form existed prior to the time

when the Mahabharata assumed 1ts final form.

In the context of the above two statements, which of the following 1= correct?

(1)
(2)
(3)
(4)

Options:

61547541545,
61547541846,
615475415847,
61547541548,

Both (A) and (R) are true, and (R) 1s the correct explanation of (A).
Both (A) and (R) are true. but (R) 1s not the correct explanation of (A).
(A) 1= true, but (R) 1s false

(A) 1= false, but (R) 1s true

L N

Question Number : 137 Question Id : 61547510731 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (A 3 (R) 291 98 2 317 (R). (A) 1 65 =9r= 2 |
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(3) (A& 2, Fhd (R) 9 74 2

@ (A=A R, R (R) 854 2

Options:

£15475415345. 1
E1547541846 2
615475413547, 5
61547541848, 4

Question Number : 138 Question Id : 61547510732 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The following are the two statements., one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A):  Vidyvarambha, the tenth sacrament. marks the beginning of study with the

learning of the alphabets.

Reaszon (R) : The alphabet is regarded as the route of all knowledge, just as rivers lead

to the ocean.

In the context of the above, which of the following 1s correct?

(1) Both (A) and (R) are correct, and (R) 1s the correct explanation of (A).
(2) Both (A) and (R) are correct, but (R) 1= not the correct explanation of (A).
(3) (A) 18 correct. but (R) 1= false

(4) (A) 1= false. but (R) 1s correct

Options:

61547541549, 1
61547541850 2
61547541851, 2
61547541552, 4

Question Number : 138 Question Id : 61547510732 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547541549, 1
61547541850 2
61547541851, =2
E1547541852 4

Question Number : 139 Question Id : 61547510733 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(Given below are two statements. one labelled as Assertion (A) and the other labelled as

Eeason (R) :

Assertion (A):  The classification of Indian history into the Hindu. Muslim and British

period 1s considered flawed for several reasons.

Reason (R) : Most of the historians shift the focus away from the religious labels

towards the patterns of significant soclo-economic changes.

In the context of the above two statements which of the following 1s correct?

(1)
(2)
(3)
(4)

Options:

Both (A) and (R) are true, and (R) 1s the correct explanation of (A).
Both (A) and (R) are true. but (R) 1s not the correct explanation of (A).
(A) 12 true, but (R) 1s false

(A) 12 false, but (R) 1= true

61547541852, 1
E1547541854. 2
E1547541855. 3
51547541856, 4

Question Number : 139 Question Id : 61547510733 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547541853, 1
61547541854 2
1547541855 =2
1547541856 4

Question Number : 140 Question Id : 61547510734 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements. one labelled as Assertion (A) and the other labelled as
Eeason (R) :

Assertion (A) : Traditional Marxism 1s devalued the importance of the idea of culture:
culture was part of the ‘superstructure’ of society. and thus, simply a

product of economic and industrial base.

EReasons (R) : Ferdinand de Saussure inzsisted that the relation between a word and 1its
meaning 1s constructed and not given. Language 1s cultural, and not

natural. and so also the meaning it generates.
In the context of the above two statements, which of the following 1s correct?

(1) Both (A) and (R) are true. and (R) 1s the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) 1= true

Options:

61547541857, 1
61547541858, 2
61547541859 2
61547541860 4

Question Number : 140 Question Id : 61547510734 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547541857, 1
61547541858 2
61547541859 2
1547541860 4

Sub-Section Number: 2
Sub-Section 1d: 615475463
Question Shuffling Allowed : Yes

Question Id : 61547510735 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehension



Read the following passage and answer the gquestions

Majority opinion 1s now coming round to the view that a part of the Arthasastra was written
during the Maurvan period. but was edited with interpolations of various kinds in the
centuries following... The original text was written by Kautilya... It was expanded and
edited by various writers, until it was rewritten in Sutra form by Visnugupta in the fourth
century AD. This 1s the form with which we are famihar today... The Arthasastra 1s not. as
1s often mistakenly believed, a text on Hindu political thought... It 1s infact a text-book on

administration in monarchial system.

Sub questions

Question Number : 141 Question Id : 61547510736 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

There 1= unammity among most of the scholars that Arthasastra was wntten during the

period of :

(1) Maurvas

(2) Guptas

(3) Maurvas and subsequent centuries

(4) Chandragupta Maurva

Options:

1547541861, 1
615475413862, 2
61547541862 o
61547541864, 4

Question Number : 142 Question Id : 61547510737 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The form of Arthasastra with which we are famihar today 1s according to Romila Thapar the

contribution of a person called :
(1) Kautilya

(2) Chankya

(3) Vishnugupta
(4) Chanak

Options:
61547541865, 1



E1547541866. 2
61547541867, 3
51547541868, 4

Question Number : 143 Question 1d : 61547510738 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What 1s often mistakenly believed about Arthasastra. according to the above passage?

(1) It 1s a text on administration.
(2) It 1s a text on Hindu political thought.
(3) It does not concern itself with the development of political thought.

(4) It does not discuss the validity of various political institutions.

Options:

615475415869, 1
61547541870 2
61547541871, =
61547541872 4

Question Number : 144 Question 1d : 61547510739 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Considering the debate over its age and authership Arthasastra

(1) Can be used as a source of the Maurvan period

(2) Cannot be used as a source of the Maurvan Period

(3) Can be used as a source for certain aspects of the Mauryan period

(4) Can be used for some aspects of the Mauryan period too but with an extreme caution

considering the later interpolations.

Options:

615475415731
61547541874, 2
61547541875 2
61547541876, 4

Question Number : 145 Question 1d : 61547510740 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Which of the following 12 not true about Arthasastra?

(1) It emphasises the moral obligation of kingship.

(2) There 1s a reflection of the 1deal of the paternalistic rule.

(3) It says that maintenance of Varnasramadharma 1s not the duty of the king.

(4) It says. “In the happiness of the subject lies the happiness of the king”.

Options:

61547541877, 1
61547541878, 2
61547541879 2
615475418380 4

Question Id : 61547510735 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label @ Comprehension
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Sub questions

Question Number : 141 Question Id : 61547510736 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547541861, 1
61547541862 2
61547541562 5
61547541864, 4



Question Number : 142 Question Id : 61547510737 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Y TITET % T w9 A 3A7et 29 ufifd 2, 92 Tfgen 9 o San e safed 6 ameE 2

(1)  =ifeea
(2) EIRIES
(3) E R
(4) ERE
Options:
£1547541565. 1
615475413866, 2
61547541867, o
61547541868, 4

Question Number : 143 Question Id : 61547510738 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

51547541869, 1
61547541870 2
61547541871, 2
61547541872 4

Question Number : 144 Question Id : 61547510739 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



STYEIE o oiEF: 31 1 o a1t 8 aE-faam o dEa g g

(1) W el 5 Uk did o w9 d Sy TR o g 2

(2) WY I o U Hid o &9 H GG A2 frA1 S e 2

(3)  HY =Tl & HidTd TES S o o Uk Hid o E H U a1 S w2

@ e g el F fo oft sy o o aren @ fohq e o gE fom e srerel 1 e A v
T 398 sreafish qraarl sl s = |

Options:

15475418731
E1547541874 2
61547541575, 5
61547541876, 4

Question Number : 145 Question Id : 61547510740 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fopiferal 0 & ayefaTrey o 9T 8 i Bl 2 87
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(3) 3w e T 2 T auiem wnd o STe e 1 FAeA A 2 |
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Options:

61547541877, 1
61547541878, 2
61547541879 2
1547541820 4

Sub-Section Number: 3
Sub-Section 1d: 615475464
Question Shuffling Allowed : Yes

Question Id : 61547510741 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehension



Eead the following passage and answer the questions

During Aurangzeb’s reign. most members of the imperial family were more devoted to the
patronage of literature and religion than to the construction of grand edifices and gardens.
However. several notable tombs and mosques were constructed by the roval famly,
including the Bibi-ka Magbara or tomb of the Queen. This monumental tomb was completed
in the 60s of the seventeenth century. Bibi or Queen was the wife of Emperor Aurangzeb.
At Aurangzeb's command. their eldest son. Prince Azam Shah. built this tomb closely
modelled on the Taj Mahal.

Sub questions

Question Number : 146 Question Id : 61547510742 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which city Bibi-ka Magbara 1s situated?

(1) Daulatabad (2) Hyderabad
(3) Aurangabad (4) Byapur
Options:

E1547541881. 1
E1547541882. 2
61547541883, 3
61547541854, 4

Question Number : 147 Question Id : 61547510743 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The tomb of Bibi-ka Magbara or tomb of the Queen was constructed of :

(1) Red sand Stone (2) White Marble
(3) Yellow sand Stone (4) Kota Stone
Options:

E1547541885. 1
51547541886, 2
61547541887, 3
61547541888, 4

Question Number : 148 Question 1d : 61547510744 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which vear was Bibi1-ka Magbara completed?

(1) 1660-61
(2) 1664-65
(3) 1667-68
(4) 1668-69

Options:



E1547541889. 1
61547541830, 2
51547541831, 3
61547541832, 4

Question Number : 149 Question Id : 61547510745 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The name of Aurangazeb’s wife in whose memory Bibi-ka Magbara was constructed. was :
(1) Mumtaz Bano

(2) Lal Kanwar

(3) Udaipur: Begum

(4) Rabia Durram

Options:

15475415393 1
E1547541894 2
61547541895, 5
61547541896, 4

Question Number : 150 Question Id : 61547510746 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The wife of Aurangzeb In whose memory PBibi-ka Magbara was constructed. 1s also
known as :

(1) Dilrus Banu
(2) Dildar Banu
(3) Hulhul Aniga
(4) Nadira Bi

Options:

61547541897, 1
61547541898, 2
1547541899 =2
61547541300 4

Question Id : 61547510741 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 146 Question Id : 61547510742 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

afTsfl %1 Heha Tohm vTe 1 fiera 27

1)  SlerdmEE (2) TEER
(3)  SARImEmR (4) =iy

Options:

61547541881,
61547541882,
61547541883,
1547541584,

[ N Y

Question Number : 147 Question Id : 61547510743 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

aTall o et Ay T = wepet &1 oo o weer 4 e T
(1) &I "l #1 Teat (2) Uhe TR

(3)  Tel s s e (4) I TeH

Options:

51547541885,
61547541886,
61547541887,
615475413888,

[ N N

Question Number : 148 Question 1d : 61547510744 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



sfTefi o wehart =1 Fmior o ad o 2o o ?

(1) 1660-61

(2) 1664-65

(3) 1667-68

(4) 1668-69
Options:

61547541859, 1
E1547541830. 2
E15475418391. 2
51547541832, 4

Question Number : 149 Question Id : 61547510745 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

straral o1 ST o F ATE o Toreeh] e | atll o gered o T s T ot

(1)  HHaT 9=

(2) e Fal
(3) eyl =M

(4)  TrferE g
Options:
6154754183931
61547541834 2
61547541895 =
61547541296, 4

Question Number : 150 Question Id : 61547510746 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
sttt <) sima, Toreeh avem § ffsl 2 werad =1 famion faran v an, ot shearrdi 2

(1) feemmeam
2) feeremam
(3)  wetge Him
(4)  fen

Options:
61547541597 1

E15475418358. 2
E154754189%9. 3
51547541900, 4



